N = 0l & At & M A

20148 = =0l & LB A JIEISEAH 27 HdIXNEY ~ 23

AN 2EF HEXNAY
M NSNS dA22 3

SR KSR S &0{2elF (2 &HH)
2 S 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
2P YIS 7,706,022 7,338,387 367,635
= 659
Al 7,705,363
NSRS &0122 E ] 1,318 0 1,318
= 659
Al 659
NI SH & 422 Z 1,318 0 1,318
= 659
Al 659
HRESAXNYHN =& 1,318 0 1,318
= 659
Al 659
101 e1214| 220 0 220
o 110
Al 110
04 JI2ZtHIZ22 NEES 220 0 220
OHNb6al EZ2SsSAIXNEEH JI2HH2 2R 2182
40,0003 x1H x5 5 220
== 110
Al 110
201 et 484 0 484
o= 242
Al 242
01 AP 2t 2| H| 484 0 484
OHMBel EZSAXNEEH dR=8 dBtx=2H|
333,330 334
= 167
Al 167
OHMBE =S AXNEENH RFE S|
7,000 *10.67L x2H 150
o 75
Al 75
202 014l 480 0 480
= 240
Al 240
01 2401l 480 0 480
OHM63l d=2SAANSEH S2=& 0]
10,000 x3¥ 16 480
= 240
Al 240
203 R F & 134 0 134
o= 67
Al 67
03 A EZ A=Y 134 0 134
OHN63l d=2SAMANLEH S2F=XH|
133,340& *13] 134
o= 67
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287 dINF W

M NYNXSM &2 ZH
Chelr XYXXISM &H42el (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| | | Al 67
ALy Az 2ot 2,155,650 2,011,028 144,622
AN 78 AIH HRFA 1,014,441 965, 206 49,235
THAHUEE & LHEEN 29 77,870 60,800 17,070
202 O4dl 58,320 54,000 4,320
04 =Xl =0 Hl 58,320 54,000 4,320
OR2YEI22 a2 As 1,080,000 «54H «13] 58,320
303 Z& 3 19,550 6,800 12,750
01 243 19,550 6,800 12,750
O=22 L ANBZA 2424 A4S 6,800
—x®= 500,000& 182 A 43| 2,000
- = 300, 000& 2= A 43| 2,400
- o 200,000& 3% A 43| 2,400
ORAME sH4E T2 VXY &3 2 X
=] 250,000 »51H 12,750
AU AIE IS 24H 287,466 307,224 A 19,758
201 £Br2%H| 3,000 0 3,000
02 =224l 3,000 0 3,000
OFUESAE SZFHH(SHHHEET)
3,000,000& =14 3,000
307 21201 A 284,466 307,224 N22,758
05 BIZERI & 3 284,466 307,224 A22,758
OFUHESANLE2Y 284,466,000& 14 284,466
A5 HRFHE A HEXNZ 150,616 138,316 12,300
201 Zer24] 147,616 135,916 11,700
01 At 2t 2l 82,816 68,616 14,200
O2=S8 #3271 #¢ 5,000& =5, 0004 25,000
OoJzJ +¢ 6,000& *1,50000 2 9,000
OZ2ALYDS ALY
500,000& *2 Al 2t *4 3] 4,000
ON.THER #A 823 HE
100, 000& #2104 2 +23] 4,200
OLEE & WX M= 7,000 *3500 =128 2,940
OAZ ARXTS FIs Yu 48|
20,000, 000& 20,000
O& 28 BA=2RI =24 ot=2+7¢ 4,800
-—us 200,000& x5 »32] 3,000
=] 20,0003 3074 *32] 1,800
Ol 49 500,000& =122 6,000
OJelZ el 2el &2l 100,000& =123 1,200
OFEAMUE E=I dX= 43,0008 «1104«128 5,676
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SH: 22T X
2|

M XA
Sl ALTE AR REX CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OQANARE BIOAFA +8
70,000 x4H x103] 2,800
ANBHARFXZ 8 2t S M= 22,000 22,000 0
203 &R =&H| 22,000 22,000 0
03 A =X SR =XH| 22,000 22,000 0
OANMBF=A JRF=XH| 22,000,000& 22,000
MNAAD| XA LU FES PG A 10,540 7,700 2,840
201 et 7,840 5,000 2,840
03 S AIS H H 7,840 5,000 2,840
O=4+ =23 M3 5,000,000& *13] 5,000
O32XH 1€ 22 A& MEna
10,0003 x284H 2,840
303 ZAZ 2,700 2,700 0
01 ZAa2 2,700 2,700 0
O=gYT 222 M3 Ala= 2,700
-2 3 1,000,000& *1 & 1,000
—ERS5 700,000 x1& 700
-& A 500,000& x2&! 1,000
SIRE BEAFIE 29 164,204 103,006 61,198
101 21 21d| 79,804 78,756 1,048
04 JI2ZtH 22 XNEE 79,804 78,756 1,048
24 F=X 223 oE 65,194
-Jl2= 40,1003 x4 %222 x 128 42,346
— 522
40,1003 1 51«11 x 128 7,940
—S235Ldg 40,1003 x4 53 8,502
— AX =G 40,1003 x4 15 2,406
— G &S| 500,000& *4H x23| 4,000
OJIZtMZ 2 X 428 s 82 6,610
— 2032 22 65,194,000 x4 . 5% 2,934
—AMEEY B2 65, 194,000& x1.0% 652
- 1888 22 65,194,000 *x1.5% 978
— A28 22 65,194,000& *2.945% 1,920
— Lo ABE 22
1,920,000& *6.55% 126
OR4dx:=xE 2y g832 2,000,000& »4H 8,000
201 YEr2 b 14,400 24,250 £9,850
01 At 22l ] 13,700 14,450 A T50
OFxzes =287 200,000& *43] 800
OFxaeld 288 1¢ 150,000 x4 x23] 1,200
OFXHE(R/F)FL 55,000& *30JH 1,650
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2N
X ZH -
L= B
el

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OFxd 2¢ 29& *250, 0000H 7,250
OZHEX A2 2¢ 150,000& = 12& 1,800
OF X & Lol Xt &= 1,000,000 * 14| 1,000
02 35294l 700 9,800 A 9,100
OFxXEZ20d 24 0/E  700,000& x1Ax13] 700
401 Al HI YL 2 0HHI 70,000 0 70,000
01 A& HI 70,000 0 70,000
OFX&M AlIAE &X 70,000,000& *14] 70,000
g 2287 o 43,384 0 43,384
307 QI2t0| ™ 43,384 0 43,384
05 A2t &= 43,384 0 43,384
OBRA HBES 299 43,384,000& * 14 43,384
FHO EZEIIE L ZA 237,289 271,465 N34,176
2HEO s80|8 € xH 85,850 84,600 1,250
201 L2 Y| 61,200 57,200 4,000
01 AFR2t2l bl 61,200 57,200 4,000
OJ& &2 LS H| 600,000& x12& 7,200
OFQIEEIAMN HH 20,000& *2005 x23] 8,000
OHEAMNBZAMNEDIAN HE
20,000& *2008 *4& 16,000
ORI ANMFLR LBt=ZH| 16,000, 0002 * 14 16,000
ORFANMFE S EH| 10,000, 000& =14 10,000
OPHAMEN BT HA L My (42A)
4,000,000& =14 4,000
202 04| 18,000 18,000 0
1 2 18,000 18,000 0
OFRFANHZ=X Y| 18,000,000 * 14 18,000
203 € R =&Y| 6,000 6,000 0
03 Al =X H R =X Y| 6,000 6,000 0
OFREINE L ol AIBFRGR2FXH|
6,000, 000& x 14! 6,000
405 XtabFE SHI 650 3,400 N2,750
02 & A7 650 1,000 A 350
Oz a T AP 13,0003 *50A 650
ZALE S 14,300 8,400 5,900
201 LBEt2 Y| 1,200 1,200 0
01 At 22l Yl 1,200 1,200 0
OZ A2 LEt=FH| 100,000& = 12& 1,200
202 04 b 6,000 6,000 0
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L= B
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=g HIXD
Negay ez 2st
PO ZEIIE L AA

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
01 2L Y| 6,000 6,000 0
OZAMIRFE bl 20,000& x5H x5 x12& 6,000
405 XHo&HF S HI 7,100 1,200 5,900
01 A&t =S F SHI 7,100 1,200 5,900
QA S A (AAZEAE) ZDI(AF) 7,100
—3os Ha 350, 000& =104 3,500
—3os X 180, 000& *20H 3,600
Hy=E 52,448 95,344 N42,896
201 Bt 52,448 37,344 15,104
01 At 22l bl 44 224 31,724 12,500
o282 =24 200,000& x12& 2,400
O7E AHAE A& JIER K22
800,000& x12& 9,600
ORIANM =28 L 24| 25,000,000& =14 25,000
O#HAF XA 2AH| 200,000& x12& 2,400
OulEass 4,824
— =2 15,000& 142+ 12& 2,520
— K&K 12,000& x 162 128 2,304
02 33249l 8,224 5,620 2,604
OoAHolE TVdlz 11,000& *320H x12& 4,224
OFAN SEAE S22 200,000& x12& 2,400
O7d E2HAE X224
200, 000& *8IH 2~ 1,600
SEAHXE EZAF L 22| 84,691 83,121 1,570
101 21 214| 21,560 21,138 422
04 JIZtHIZ22XNSES 21,560 21,138 422
OSHZAIR 2 21,560
— ZFEHI XA E 2XEAIZZIRA
49,6403 x6H »27 8,042
— X APKI & 22| Xt 45,2703 x2 3 x27 2,445
—dargE A B A 45,2703 x9H 24 9,779
—d2AdEsEs & =20dH=
10,487,000& %7 .5% 787
— 18 2 MUEE = 20,266,000 *x2.5% 507
201 Bt A | 61,131 59,983 1,148
01 AR 2218l 61,131 59,983 1,148
OSHEIANYSER LS|
2,000,000& » 14! 2,000
OSH 2xA 24 47,380 48H x26 59,131
202 044l 1,000 1,000 0
01 2LHHI 1,000 1,000 0
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SN 22T I
B Y Ay U
S Al SHote XEXX 2 235 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
201 et A | 34,000 0 34,000
03 S AIS H H 34,000 0 34,000
Os0t2lHAEY SHAEAIE X4 S
13,000, 000& 14 13,000
Os0tel HAEY &I XI&
1,000,000& 2100 = 21,000
301 dEtE A= 2,100 0 2,100
09 HAIAHIEA = 2,100 0 2,100
OSsotel HAEY &IFE Abd|
100, 000& *21JH & 2,100
gty U HAE d&E8s A 5,400 5,400 0
307 212t01 & 5,400 5,400 0
02 0I2tBAEXTZ 5,400 5,400 0
oey o Hid HdECES 0FAalH|
3,000& x30H 53| x12& 5,400
sl 2g9XE 2 Wa s 270,308 249,247 21,061
301 Bt A= 260,308 249,247 11,061
04 LIS 260,308 249,247 11,061
OO0kAlHI 166,110
— As2Ei 3,000 x7H x10H CH »311L 65,310
— U S 3,000 x7H 16K T *300! 100,800
OS&EI =4 detd|(H=24])
1,400& x4 Al 2t +21 1 CH* 105 12,348
o1 =l 60,0002 *660H 39,600
Ogrd &H| 100, 000& *26JH CH 2,600
Ot 30,000& x19JH CH 570
Oggaesa29Y| 90,000& =26 H CHx12& 28,080
Oxalle=2 5,000, 000& =14 A& 5,000
Oxg RFHI 100,000 x5 CHx12& 6,000
401 Al HIL 201 10,000 0 10,000
01 A& HI 10,000 0 10,000
Ooge =4 %2 1,000,000& =104 CH 10,000
FBSA olZe 25 2 SA2e 551,932 445,430 106,502
HASAEH 2 228,650 125,700 102,950
405 X+HoHF SHI 228,650 125,700 102,950
01 Mt =2 S F SHI 228,650 125,700 102,950
oges TII(UA) 163,650
—HEH(2LIHZES 1,240,000& =100CH 124,000
— T 2IE{(A3/EHH) 760,000& *40CH 30,400
— QI Y NS 185, 000& *50CH 9,250




2N
X ZH -
L= B

el

A ZE a9 (3) - HRAY - BYS Ol &t o San HmEET
OSFUXXME SUIAA 2H0|IHOI (P HEAP, &l 57
) 1,500,0002 * 1004 S 15,000
OMFX MNIAFE T A AIAE (XML, &1 77)
50,000,000 =14 50,000
254 AIEFH & S 22 209,572 241,930 N 32,358
201 £B-2E| 204,172 236,530 N 32,358
01 At 2t 2l 3,600 24,150 A 20,550
O ABF 300,000& x12& 3,600
02 232gHl 200,572 212,380 211,808
OgBtNsle=s 100,000& 903 & 123 108,000
OAUHUHES (ZAE) 23l MBS
300,000 =12& 3,600
OARCIHAUY 23 2,080,000& 13 &+12& 24,960
OF2AZMe A AEZS
6,000 =190 122 1,368
Oo0lsdst AAEZE 65,0003 «4CH =122 3,120
OFU el Xl 226,612,000 *5/100 11,331
SEMHABSEI(UPS) RN (F,S)
8,000, 000& 2341 %5/100 9,200
OFUsS &Y KA 34,500
-2 15,000& x1,8003] 27,000
—ga 15,000& 5002 & 7,500
OAMEXTZ AL HZ=ZEHl |
17,842,150 *141x5/100 893
ooz KXYl 200,000& »3CH 600
OoMag rPC s=2lbl 30,000 = 100CH 3,000
202 odl 5,400 5,400 0
02 X 5,400 5,400 0
OFUS A AHESHB A Ol
150,000 x3H «12& 5,400
delgt=s 28 S s 323 s 113,710 77,800 35,910
201 L2l 71,610 74,000 A 2,390
01 At 22l 71,610 74,000 A 2,390
OARIZEESNE A 56,210
— =2t 70,000% *3H 3= +52 x157| 47,250
— Okzt 70,000 * 1 x4z x4 2 +8D| 8,960
OANIZEEst = Wbl 11,130
— =2 6,000 *31 S +352 *157| 9,450
— Or2t 6,000 « 11t = +353 80| 1,680
O uNEd N8 423 50,0002 *11& 550
Odansd HEZHEH &X 600,000 13 600
OFMNEFE PCR A E =4I
1,300,000 »30CH*8/100 3,120
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SN 22T I
B Y Ay U
Sl HESM 0E RE Y KX e CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
207 A IR b 8,000 3,800 4,200
02 & AR Y| 8,000 3,800 4,200
ORA L S=0IXXHE SHOIK JHH
8,000,000 13| 8,000
405 XHoHFE S HI 34,100 0 34,100
01 M = S F SHI 34,100 0 34,100
OoOw=s= &II(HA) 34,100
—HEH(2LIHZES) 1,100,000& *31CH 34,100
S8 HAMN2Y 1,510,237 949,742 560,495
HAANE &5 & RAES 1,011,907 630,227 381,680
SSHol FH A2 125,897 119,962 5,935
201 Bt A H| 125,897 119,962 5,935
01 At 22l b 40,428 44,108 A 3,680
OdXdEr+= 15,000& *3004 4,500
OBMAILE R - B2l 2B(22E)
1,400,000& x12& 16,800
od2g A=H 500, 000& *x23| *2CH 2,000
O2IHEEX 20,0003 x2&5+12& 480
OZ2ANE=EH 60,000& *43] 240
OZ2idd g Kol 15,0003 x200F 3,000
OXNsSEBI A2F 1,000,000& *13] 1,000
O&XEID AIAE ABFE 3,408
— Hty et e 250! *x2,000H 500
— XtH S et 1,200& x2,000H 2,400
—e|lgety 1, 140& *200H 228
— e EEg 22 140, 000& *x2H 280
OFAMEEA HIWH &z
25,000 *3000 2~ =128 9,000
02 332494l 85,469 75,854 9,615
OFCUMI2 & 2= 30,000& =193CH 5,790
OHSI H&E= 4,000,000 24! 8,000
Og e A& ¥ B 580,000& =6LH 3,480
OB A& & B4 1,500,000 «1CH 1,500
OFAMN M=x & DItxX HA
2,100,000 23| 4,200
OFAMNESA A= 1,134,000& *63] 6,804
OFA AIEE2 KX - 224l 3,300,000 x12& 39,600
OFAH(E2LE2) 28 HA
9,000, 000& » 14!l 9,000
OAFE X AH| 550& 12,900 m* 7,095
HAAIEZ Wf.28 W24 491,545 120,000 371,545




g7 dIEXNAN

Casde FASE
CEAMAE B2F E RUES

CEH B (BH) - NBAY - B2 o AF o San H D2
401 Al HI L 2 0HHI 491,545 120,000 371,545
01 A& HI 489,385 120,000 369, 385

OFAN A2 BE3A 100,000, 0003 * 14! 100,000
O&AN sAAE2 RA2ESA
20,000,000& * 14 20,000
OFAU SLEFA ti==23H £ &dH &3
At 20,000,000& * 14 20,000
OFAMU FXUHE S B3 A
18,000, 0003 * 14 18,000
OFAMAZ == BotS DM SAL
3,000,000& *x10S 30,000
OFTHES LAIEA 21222 Z A EAHHI
00,000,000& x6/13% 1,385
OAXHES LAEFA 2l2HE ZAHH|
300,000, 0003 * 14! 300,000
03 A& 2 0HH| 2,160 0 2,160
OFTHES LAIEA 2122
00,000, 000& *0.72% 2,160
=322 2 MA 394,465 390, 265 4,200
201 LEt2 Y| 394,465 390, 265 4,200
02 33294l 394,465 390,265 4,200
OFA & - bl 22 6,500,000& x12& 78,000
OFA HIINER2 15,500,000& x12& 186,000
OFA BIHMEREE 2 2,400,000& *23| 4,800
OFAN DNERLEE=2 3,000,000& x13] 3,000
OJFAAD HiA HALHS 200,000& *13] 200
O4ag & &2, MIHE W 2
180, 000& *13] 180
OFANAZHI 7,500,000& x12& 90,000
OZAIIAANES 800,000& x12& 9,600
Os2dI BZERA Bz 280,000& 20«12 6,720
OLYANAEZE EHARA E4= 300,000 12 3,600
(OFSPIE=PNEEE= 450,000& *13] 450
OFIALE HEB2| (22
992,860 x12& 11,915
S 22 498,330 319,515 178,815
X 2 225,640 54,000 171,640
405 XtabF SHI 225,640 54,000 171,640
01 AL 2 EF SHI 225,640 54,000 171,640
O A2 U 2= SHAIXRZ XSH(HA) 160,000
— 45015 HA 160,000, 000& = 1CH 160,000
OEZE32=2 (A 45,000
— 2.5 E83= 45,000,000 = 1CH 45,000
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SN HYX D

=P
M SESHO HA2HE
Ce: 2SI 2el (e H)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Q&S Ite SHEA(ARF) 400,000 *46CH 18,400
ozExe HHIAHOIE(AR) 320,000 «7CH 2,240
221 K22 272,690 265,515 7,175
201 Bt 4d9 ]| 272,690 265,515 7,175
02 22| 272,690 265,515 7,175
OBEBXY BINM 23
80,000& x35CH x23] 5,600
oxZ2xe SeEE=2 550,000 x60CH 33,000
oz XeE s XAl 5,260
— =23 () 400,000 *3CH x13] 1,200
—das=2((gy) 100, 000& x16CH *13] 1,600
— 32 2 =g (oY) 60,000 x41CH 13| 2,460
o8 XHeE sl 3,500,000& *58CH 203,000
oI AL A2 150, 000& »20CH 3,000
ozEsxte HIIBAESE 2,830
— =2 A 60,000 ~38LCH 2,280
— ZI| A 25,000 x22(H 550
OELZEHI XS KAHI 10,000,000 *2CH 20,000
HHSHAY (2P XKD 4,038,817 4,377,617 A 338,800
laady|(s2) 3,737,667 4,078,087 A 340,420
ol 2oyl 3,737,667 4,078,087 A 340,420
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SN 29T FOUMEXAD
HE: HASS MBOUF N
el RP|ZMELE X CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
YT FUMT A0 53,618,110 38,722,502 14,895,608
= 29,227,308
& 261,198
< 4,706,432
Al 19,423,172
Nass 42008 I 21,714,831 17,448,353 4,266,478
= 16,638,850
< 1,868,242
Al 3,207,739
=Dz HEEH X3 16,684,123 16,229, 196 454,927
= 13,386,601
< 1,614,630
Al 1,682,892
Z2EASSH A& 50,230 97,079 AN 46,849
= 40,184
< 1,427
Al 8,619
301 et a3 50,230 97,079 A 46,849
= 40,184
< 1,427
Al 8,619
01 MI2EZE 06z 50,230 97,079 AN46,849
OZ2AS3H XA 50,230,000 50,230
= 40,184
< 1,427
Al 8,619
Il=MEtEE MHZ0 (L) 12,369,000 12,371,938 AN2,938
=2 9,895,200
< 1,236,900
Al 1,236,900
301 L2 LS 12,369,000 12,371,938 AN2,938
=2 9,895,200
< 1,236,900
Al 1,236,900
01 MEIBEE 2053 12,369,000 12,371,938 A2,938
OINZMEET MHI0 (YY)
12,369,000, 000& 12,369,000
=2 9,895,200
< 1,236,900
Al 1,236,900
JZMEZEE FHSH 3,500,000 2,811,500 688,500
=2 2,800,000
< 350,000
Al 350,000
301 L2 A Z 3,500,000 2,811,500 688,500
=2 2,800,000
< 350,000
Al 350,000
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SN BYT FOUMEXD
S5 4o

M HA
o

Cel: ROD|IZMBLE N CER-ED
x 5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 MEIBEE 263 3,500,000 2,811,500 688,500
OJI=da2d =Hs0 3,500,000, 000& 3,500,000
= 2,800,000
< 350,000
Al 350,000
=482z 1s30 350,376 568,413 A 218,037
=2 280,300
< 21,023
Al 49,053
301 et AaZz 350,376 568,413 A 218,037
= 280,300
= 21,023
Al 49,053
01 Ml28HE 6= 350,376 568,413 A 218,037
OJIz=dasd Iss0 350,376,000& 350,376
= 280,300
< 21,023
Al 49,053
J=deE2d s - ZH2 88,000 84,250 3,750
= 70,400
< 5,280
Al 12,320
301 et d s 88,000 84,250 3,750
= 70,400
< 5,280
Al 12,320
01 MEIBEZE+05l= 88,000 84,250 3,750
OJI=Ma&2% s - ZHMS0W 88,000,000 88,000
= 70,400
< 5,280
Al 12,320
=2 HERL=S 300,517 276,016 24,501
= 300,517
301 et A=z 300,517 276,016 24,501
= 300,517
01 AR 2Z A5 3 300,517 276,016 24,501
Odlz===SX E2¢= 300,517,000& 300,517
= 300,517
Jl=ME2a 274l 26,000 20,000 6,000
301 LAz 26,000 20,000 6,000
01 MI2ZE 6= 26,000 20,000 6,000
OJdlzda2d 274 200,000& %1304 26,000
HaRAS N3 483,233 361,487 121,746
=2 272,829
= 39,616
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X ZH -
L= B

el

29D FUMENED
HASS 420 X8
ARIHE X

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

170,788

IEEN

= MW

175,000
140,000
5,250
29,750

204,622

N 29,622

= Hn

175,000
140,000
5,250
29,750

204,622

N 29,622

=X X&E 175,000,000&

= N H

175,000

175,000
140,000
5,250
29,750

204,622

N 29,622

pal
0z
0
X
Ol
02
g
e
e
>
o

= N H

60,195
48,156

1,806
10,233

46,865

13,330

= HnH

60,195
48,156

1,806
10,233

46,865

13,330

60, 195,000&

= M W

60,195
60,195

48,156
1,806
10,233

46,865

13,330

= M

99,000

9,900
89,100

110,000

A 11,000

= M

99,000

9,900
89,100

110,000

A 11,000

99,000,000

H

Al

99,000

99,000

9,900
89,100

110,000

A 11,000

22,660
22,660

22,660

H

19,940
19,940

19,940

H

19,940

19,940
19,940

19,940

2,720

2,720
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el
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0
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|
ey

2 [l
0z b on

=
Ot

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

H

2,720

01 At 2teltl 2,720 0 2,720
OMASESMWSH X3 A 2,720,000 2,720
2,720

2l

= gy XH 126,378 0 126,378
= 84,673
Al 41,705

101 Q124 4] 126,378 0 126,378

84,673
Al 41,705

H

o
=~
]
N
2d
ry
HU
sl
on
H
4>

126,378 0 126,378

O
na
O
ogr
(il
[=)
S
e
e
mw
gg
S o
o M
B
o
y

003 60 & +x21H 126,378
84,673
41,705

= H

=]
]
or
Ju
=3
0Q
Mo
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o
>
e
>
Q

592,275 715,734 N 123,459
459,420
,716
116,139

= N W
>

=]
121
rJ
Hu
>
it
«
~

,240 494,844 A1T77,604
253,792
,519
53,929

= M W
©

101 Q124 4] 317,240 494,844 A1T77,604
253,792
519
53,929

= N H
©

04012t Z22HsE+ 317,240 494,844 AT77,604
OXgZ2 A 317,240,000& 317,240

253,792
,519
53,929

= H H
©

{on
02
]
0o
O

bl

| 275,035 220,890 54,145
205,628
7,197
62,210

= W

301 gEtE &= 275,035 220,890 54,145
205,628

7,197
62,210

= W

=5l =2 275,035 220,890 54,145
O3 LI SSEFALY 275,035,000& 275,035
205,628

7,197
62,210

Z W

= 2,400 141,936 A 139,536
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S ERR-IPYY
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=
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==
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0y

YUsE 29 2,400 2,400 0

201 fEt2E | 2,400 2,400 0

]| 2,400 2,400 0
S=& Let=ZHl 2,400,000 2,400

ol sX0 = 3,952,800 0 3,952,800
2,520,000
197,280
,235,520

= W

—
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420,000
27,000
153,000

= MW

301 LELE A= 600,000 0 600,000
420,000
27,000
153,000

= MW
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0
2
N
%E
oy

600,000 0 600,000
OZO==(24l) 600,000,000 600,000

420,000
27,000
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= W

o= (=) 352,800 0 352,800
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317,520

= M

301 LEE A F 352,800 0 352,800

35,280
Al 317,520

H

H=ol= 352,800 0 352,800
g (&Hl) 352,800,000& 352,800

35,280
317,520

= M

S 3,000,000 0 3,000,000
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765,000

= 0N W
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= M W
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fM: 2
L
4

¥ Lol =X 53
S HAS LS MEXFXH (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
10 A3l S X2 = 508,488 512,904 A4,416
Od2Ag f=224 X&  3,000& *169,4964 508,488
< 35,784
Al 472,704
dzAY 2234 X (XHA) 1,500 1,500 0
203 ¥ S =&l 1,500 1,500 0
03 Al =AY R =&Y 1,500 1,500 0
okLoRzasSA g2F2 1,500, 000& 1,500
HAS MOt AlABHE 306,000 225,750 80,250
< 30,600
Al 275,400
307 gl2tol & 306,000 225,750 80,250
< 30,600
Al 275,400
10 M2 S XRE X 306,000 225,750 80,250
OMASTHIL Q! AABHE XI&
306,000,000& 306,000
S 30,600
Al 275,400
FEZAE FHAE 1A 116,420 81,600 34,820
< 10,080
Al 106,340
307 gl2tol & 116,420 81,600 34,820
< 10,080
Al 106,340
10 M2 SXRE X 116,420 81,600 34,820
OZZ2AE FHAE el 115,200, 000& 115,200
< 10,080
Al 105,120
OYZAY FHAY =2sMH N
50,000 «2H « 122 1,200
OAMEISXEHzal doiEH Jrdl X&
10,000& »2H 20
fEZ2AY R2UHIE XA 33,600 33,600 0
307 glz2+ol & 33,600 33,600 0
10 M3 2REX 33,600 33,600 0
OZ=2AY FHAHZH & 223
300,000& 400 2128 14,400
OZ2AE I SAESH
400,000 *404 &+ 12&8 19,200
el R e N 3,000 3,000 0
301 et d = 3,000 3,000 0
01 MEI2EZE +6l= 3,000 3,000 0
Okola2dact HE XA 100,000 *30H 3,000
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Off &t 24

=
i
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1,000, 000& 23l

40,0003 128

2,000
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2,000

480

Z HH

815,040
27,000
19,830
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739,080

75,960
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378,000

90,000

468,000

378,000

90,000

w

0,000& 1,300 »12&

468,000

468,000

378,000

90,000

Z HH

97,440
27,000
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A 11,640

= H A

97,440
27,000

960
69,480

109,080

A 11,640

01 Al 28X =0l

OFHI SAM=
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96,000,000% *15/1,000

= H M

97,440

96,000

27,000
960
68,040

1,440

109,080
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18,870
230,730

252,000

A2,400
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H
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249,600

18,870
230,730

252,000

A2,400

10 Al SX2 X

OZZ2E AtslSAtE SHI

100,000 2087 A+ 128

= H
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00
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= M A W
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131,692

2,728,654

1,724,736

1,273,906
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FAN: BER FQUMSIA N
dM: Lol 2EX A
ool ¥Ry 29 Y 2 (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
22" 29d X& 1,502,822 1,035,102 467,720
= 90,023
& 43,198
< 124,855
Al 1,244,746
307 glz2+ol & 1,502,822 1,035,102 467,720
= 90,023
&2 43,198
= 124,855
Al 1,244,746
10 AtSI =X 2 X 1,502,822 1,035,102 467,720
OZ2E 29 eyl 1,197,360, 000& 1,197,360
=2 43,198
< 33,142
Al 1,121,020
OZ2% &34 XA 56,962,000& 56,962
= 13,898
< 4,169
Al 38,895
OZd2d s&J| &d & 248,500,000 248,500
= 76,125
< 87,544
Al 84,831
Z2Y SI3MEAY 966,260 252,064 714,196
201 et 860,660 187,264 673,396
01 At 22l 860,660 187,264 673,396
OZ2E A& &H KXt 182,460
~¥2Y F4I AHE
35,0003 +28101 123 118,020
~H2g 4 SN2
17,000& = 10CH 122 2,040
229 FIIE S RNLLH
300, 0003 2080 2~ 62,400
Oss - S¥28 I2Y a2t
150, 0003 *2If A+ 12& 3,600
OSd28 22 dJ|etd 2eld|
200,000 = 12& 2,400
OZ=2Y 3tM - ol 2= 11,600
—AdXNE2Y SHHEE 40,0003 84 & 320
—ZEFY ANARY M EE
60,0003 * 18801 2= 11,280
OZ2Y SFMERES 15,0002 *200H A 23] 600
OZzd gdiz 650,000,000 650,000
Oogx3adze =2 10,000,000& 10,000
401 A& HIZ 201 I 105,600 64,800 40,800
01 A& HI 105,600 64,800 40,800
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2N
X ZH -
L= B

el

SA - FE - BI(EA) - NRAY - By 0l &t San DS
Od2E NEES 2,700,000& »28H A 75,600
OYxI=2E elz2edd 15,000,000 *20H A 30,000
22" =235 ¥ 23017 B 161,500 122,500 39,000
405 TtabH S| 161,500 122,500 39,000
01 et ESFH S 161,500 122,500 39,000
OZ2Y oitas I+ (4720, H200H)
1,200, 000 «40CH 48,000
OdHeD (208, Xl 15) 1,500, 000& = 15CH 22,500
OQrOFS RH( &I 1) 2,000,000& =10CH 20,000
O (AF) 1,500, 000& = 10CH 15,000
OUXETv(ti) 850,000 »20CH 17,000
OII LA E(UHA) 300,000& =30CH 9,000
OdZED(tHA) 1,000, 000& 10CH 10,000
Od=Z2Y TII(&7) 10,000,000 *24 £ 20,000
d2E2g gd3 Mg 140,000 105,630 34,370
307 21201 A 140,000 105,000 35,000
05 RIZtRE = 140,000 105,000 35,000
OZ2E2Y 43t AHY 35,000,000 *404 &~ 140,000
d2YRY 43 MP(EX) 10,000 10,000 0
= 1,000
Al 9,000
307 glz2+ol & 10,000 10,000 0
< 1,000
Al 9,000
05 RIZtE = 10,000 10,000 0
OZ2e Z4d3Ag sl Xz X3
10,000,000 =120 & 10,000
< 1,000
Al 9,000
22% 29 Xl 197,760 199,440 A 1,680
301 et d = 197,760 199,440 A 1,680
01 MEIBEZE 06z 197,760 199,440 A 1,680
OZ2Y =24 197,760,000& 197,760
=0yl ded X& 20,300 0 20,300
2 5,075
< 5,837
Al 9,388
307 glztol & 20,300 0 20,300
= 5,075
< 5,837
Al 9,388
10 AFRISXIEX 20,300 0 20,300
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9,909,636

= N W

=g s 24,774,088 15,480,844 9,293,244
12,387,043
2,477,409
9,909,636

=z N H

301 AP A2 24,774,088 15,480,844 9,293,244
12,387,043
2,477,409
9,909,636

=z N H

a0l 3 24,774,088 15,480,844 9,293,244
zde=s N= 24,774,088,000& 24,774,088

12,387,043
2,477,409
9,909,636

= MW

s
E
o
N

bl
X
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1,749,200 2,013,655 N 264,455
47,277
191,000
73,395

1,437,528

= M HD W

0
OH
ry
HU
>
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1,399,000 1,683,655 N 284,655
191,000
66,391

1,141,609

= N H

0K
01
rl
Hu
>
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1
™
It
i

1,166,000 1,166,000 0
191,000
66,391
908,609

= HH

101 1Al 1,037,400 1,037,400 0
191,000
55,691
790,709

Z HH

04 JI1ZtHZ22 s+ 1,037,400 1,037,400 0
O3322AMg o=2Y 1,037,400, 000& 1,037,400

191,000
55,691
790,709

= H [

N
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ne
s
Mo
02
[

5,000 5,000 0

400
4,600

= M

01 At 2t2lt] 5,000 5,000 0
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SN 29T FOUMEXAD
HE: DBEX U O
el S322AY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O3E2ZAY LEt=EH| 5,000,000 5,000
< 400
Al 4,600
202 04l 3,600 3,600 0
= 300
Al 3,300
01 = LH 4 Hi 3,600 3,600 0
O3322 Mg Al 3,600,000& 3,600
< 300
Al 3,300
206 M= Hl 120,000 120,000 0
< 10,000
Al 110,000
01 M= 4l 120,000 120,000 0
OS2 2 AL =& HZ I 120,000, 000& 120,000
< 10,000
Al 110,000
SB2EAY FE(XA) 233,000 517,655 A 284,655
101 @124l 223,000 501,000 A 278,000
04 J12ZtHZ22EE = 223,000 501,000 A 278,000
S32ZAIY A2 A (XHA) 223,000, 000& 223,000
206 M= Hl 10,000 16,655 A6,655
01 M= 4l 10,000 16,655 N 6,655
O332Z2MEF& M=l 10,000, 000& 10,000
AU =& 350,200 330,000 20,200
= 47,277
< 7,004
Al 295,919
NEESSH LXel At 350,200 330,000 20,200
= 47,277
= 7,004
Al 295,919
101 @124 dl 303,400 305,000 A1,600
= 40,977
= 6,684
Al 255,739
04 JIZHHZ22XEE 303,400 305,000 A 1,600
OXNGZSH LAelAgy o2
303,400,000& 303,400
= 40,977
< 6,684
Al 255,739
201 L4l 2,000 2,000 0
= 270
= 120
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SN 29T FOUMEXAD
MY 12EW U o
el AIH =X CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
Al 1,610
01 AP 22| H| 2,000 2,000 0
OXEZ2SH LAY LBt=2H|
2,000,000& 2,000
= 270
= 120
Al 1,610
202 044l 1,800 1,800 0
= 230
= 120
Al 1,450
01 2L Y| 1,800 1,800 0
OXEZ2SH LXelAre o ] 1,800,000 1,800
= 230
&< 120
Al 1,450
206 M Hl 43,000 21,200 21,800
= 5,800
o 80
Al 37,120
01 X2 H| 43,000 21,200 21,800
OXNASSH LXelAY M=zHl 43,000,000 43,000
= 5,800
= 80
Al 37,120
AMNIESXNEL =X 43,850 46,850 A 3,000
FOIMETA AMFR 43,850 46,850 A 3,000
Ol 3o st XA 39,600 39,600 0
307 2iz2to| A 39,600 39,600 0
04 QIZ2tSHALE X 2 39,600 39,600 0
OFOfel 3lato st 2HH| 39,600,000 39,600
ANSIE2X Al ZHEX 4,250 7,250 A 3,000
201 gEt24A Y| 2,250 5,250 A 3,000
01 AP 22| d| 2,250 5,250 A 3,000
OAME =X LBt=24| 2,000,000& 2,000
OFRHE 2L= 250,000 »1H 250
203 € R F & 2,000 2,000 0
03 AIEH =X H 2 F X Y| 2,000 2,000 0
OAZEXNHHZR2R 23| 2,000,000& 2,000
HESAAH(BEE PR FOMET D) 232,741 90,000 142,741
= 59,040
Al 173,701
Jleddl 86,640 90,000 A 3,360
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
JlE2&l 86,640 90,000 A 3,360
201 24l 37,440 39,000 A 1,560
01 At 2t 2l 37,440 39,000 A 1,560
OfM2gHI 60,000 x24H « 123 17,280
OJles gl 70,0003 «24H «12& 20,160
202 O4dl 45,000 46,800 A 1,800
01 = LH 4 Hi 45,000 46,800 A 1,800
OJIegRF& 150,000& x24H «12& 43,200
OF3ZZE ¢l 150,000 x1&H 123 1,800
203 YR =&l 4,200 4,200 0
04 FEANSEHE=LH 4,200 4,200 0
OFRN2IYS =2 350,000& 128 4,200
ol 2 gl 118,080 0 118,080
= 59,040
Al 59,040
QA 2HHI (SE At 22l A) 118,080 0 118,080
= 59,040
Al 59,040
101 14 Hl 118,080 0 118,080
= 59,040
Al 59,040
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SUIXSAIE2el 4,760 4,760 0
sUXSAE HH £ FXNE+ 4,760 4,760 0
201 L2l 2,760 2,760 0
02 =224l 2,760 2,760 0
OMSAE 23R 230,000& * 104 A %12 2,760
401 AIEBIZL 28I 2,000 2,000 0
01 A& Hl 2,000 2,000 0
OsUNd=sAE |X 2cldl
2,000, 000% * 104 & 2,000
dad B5 9 84 46,840 48,240 A 1,400
< 1,500
Al 45,340
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< 1,500
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OFAEZRY 29l 30,000,000& 30,000
< 1,500
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20,000 «4H 43|« 12 3,840
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20 & 78,002,790 46,155,423 31,847,367
= 36,619,020
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OSXad 222 MR (YL S)
50,000& 100K x23] 1,000
OSMIHI ¥ JIAHE =eldl
400,000& x103l 4,000
O=sXNU =sSH= 2 IS0 2= &
RN, 500,000& »50CH 25,000
02 =224l 8,420 4,800 3,620
OLQE ROAAHIAAEY AEHDL
100,000& =128 1,200
OSMII & JIAHE |FHI 7,220
— L= 1,970& +1,0004 1,970
—-38 1,750& 1002 *303! 5,250
206 = Hl 54,424 35,186 19,238
01 M2 4l 54,424 35,186 19,238
Ol =228 2Nl 4,000
— &= 10,000& 2004 2,000
— &z 10,000& »200H 2,000
O33=XU Mgl SH 85 #2(2
) 2,420 3 30000 x 123 8,712
OE2Y =Xzt AHE OFds 2
1,200& %20,000=2 24,000
O==MHE & EAHEH 2
120,000 x50 6,000
O=XAEE T2l 228 7Y (5.8, 32 S)
30,000& x10& +103l 3,000
O=XU 20 =H ZLHSE 2 (H)
2,420 3 «30000 x 123 8,712
401 AIEHI L 2 0] 151,620 151,620 0
01 A& Bl 150,000 150,000 0
OZAM & SXA2ISAHOLE, 000 S, 2Y
) 50,000,000& =14 50,000
OZAM 2 X2 BM(=UH, X, 32,2
ol) 50,000,000& 50,000
OZA & A2 SAH(EHLIF)
50,000,000& =14 50,000
03 Al 2 THHI 1,620 1,620 0
OZAT 2 X242l SAH(OFE, 00 A8, 2
) 50,000, 000& *1.08/100 540
OZAM 2 R AU, B, 32,+
ol) 50,000, 000& *1.08/100 540
OZA & A2 SAH(EHLIF)
50,000,000 *1.08/100 540
HElol32d & EHNNETZ A2 A 22 35,847 2,414,327 A 2,378,480

_85_




FN: 2R sXSE W
BB T A=A
@ TAss 2 =32 I (&)
SA - BB B () - MM - BES Ol &t o San HmEET
101 124 dl 29,747 0 29,747
4 D12t Z2XREES 29,747 0 29,747
ONeosd sAae = 29,207
—Jlas 38,9703 x2H 206 L 16,056
—fE5LsY 38,970 »2H »43 3,352
— QX 38,9703 «2H 10 780
— 522 38,9703 x1 .58 x2H x40 4,677
— BE S| 500, 0003 2 +23] 2,000
—UAHLBER 24,862,860& *2.54/100 632
— IR z=zEEE 24,862,860 *4.5/100 1,119
- 1828z 436
=R g0y 24,862,860 *9/1,000 224
NEHH 24,862,860% *8.5/1,000 212
—dHEES 24,862,860 «6.2/1,000 155
O0eolsd |A2el 8 1=l 540
— &Y= 150,000& »2H 300
— &3 70,000& *2&H 140
- 29 50,000& »2H 100
201 L2l 2,000 658,660 A 656,660
02 2324l 2,000 563, 260 A 561,260
OsXZel ¥ |X&e ¥ RFH(AXS S)
200,000& 10& 2,000
206 M= Hl 4,100 0 4,100
01 M= tl 4,100 0 4,100
ONeolsgd 2283 200,000& x10& 2,000
O=X0 22l L (AXE, DANEBHE S
) 700, 000& *3CH 2,100
OEI0IBY ¥ BUNMBCZ =XALE BRIz 605,400 858, 245 A 252,845
401 AIEHI L 2 CHYI 605,400 858,245 A 252,845
01 A& HI 600,000 850,500 A 250,500
O0elolB3d S SXAEs 223 AH(0FE, Ol
Hes) 100,000,000& * 14 100,000
O0elol3d S sSIANEs ZASMME, 2
gs) 100,000,000& * 14 100,000
O0elolB3d S SXANEs S A=, 3
Xs) 100,000, 000& * 14! 100,000
O0elolzd S sSIANEs ZdS3M(S3,7
0ls) 100,000, 0002 * 14! 100,000
O0elolzd S sSIANEs 223 (ER,2
=) 100,000, 0002 * 14 100,000
O0EloI83d S SXAAEsS 223 AH(&E,H
) 100,000,000 * 14! 100,000
03 A& =2 THHI 5,400 7,745 A2,345
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2 2R sN2 D
HE: T A=A
SR SASS ¥ =X EERED
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
ONE0IZ2Y E SIAES 22 2AH0FE, 0]
Hs) 100,000,000 «0.9/100 900
ONE0IZ2Y E SIAEES 2E2AHAME 2
g§s) 100,000,000 *0.9/100 900
ONE0I2Y & SIANES 22I2AM (=W, E
HsE) 100,000,000 *0.9/100 900
O0BI0IZ2Y £ SXAES 222AM (2=,
0s) 100,000,000 *0.9/100 900
ONE0IZ2Y E SIAES 222AH(ED, 2
=) 100,000,000 «0.9/100 900
O0EI0IZ2Y E SIANES 2 2AH(AH o
BE) 100,000, 0002 x0.9/100 900
Helo|28 2 BldEssz TAKA 2 141,260 0 141,260
401 Al HIZL 2 0HY| 141,260 0 141,260
01 Al&H| 140,000 0 140,000
ONeoI28 & Z&X2AZZ2AH(IRY)
70,000,000 14! 70,000
ONEI0I28 & ZX2AZZ2AH(2RH)
70,000,000 14! 70,000
03 AlE 201 | 1,260 0 1,260
ONeoI28 & ZX2AZZ2AH(IRY)
70,000,000 *0.9% 630
ONEI0I28 & ZX2AZZ2AH(2RYH)
70,000,000 *0.9% 630
Hel0l2d & BHNEEEZ 9I=20| A= 50,540 0 50,540
401 Al B 20| 50,540 0 50,540
01 A& H| 50,000 0 50,000
OB 2 £ 81220 Zel2AM(17H)
25,000,000& = 14! 25,000
OB 2| S 51280 ZAEIZ2AH(27H)
25,000,000& = 14! 25,000
03 Al&E 201 Y| 540 0 540
O0EI0IZ) £ 91220 Z22AM(17H)
25,000,000& x1.08% 270
OB 2| £ 81220 2 Z2AH(27H)
25,000,000& x1.08% 270
Hel0l=0lAlE SA22 282,520 0 282,520
401 Al HI L 2 04| 282,520 0 282,520
1 Al&H| 280,000 0 280,000
ONEI0I=0IH(RIALE) SRS Z2AH(17H)
70,000,000 14! 70,000
ONEI0I=0IH(RIALE) SRS Z2AH2TA)
70,000,000& x 14! 70,000
OUEOI=0IH(HIEM S) SXZEIZ2AM(17YE
) 70,000,000& * 14! 70,000
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P =N32
SA=SAS
SASE ¥ =XBL F| EERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
ONEOol=0lE (HtE M S) FAZelBA(27Y
) 70,000,000& » 14! 70,000
03 A& 2 THHI 2,520 2,520
O0E0Is0H(FSIAIE) SA22BM(17H)
70,000,000& *0.9/100 630
O0E0I=0H(KSIAIE) SA22BA(27H)
70,000,000& *0.9/100 630
OOEol=0lE (HtE M ) FAZeBA(17Y
) 70,000,000& *0.9/100 630
ONEOol=0lE (HtE M S) FAZelSA(27Y
) 70,000,000& *0.9/100 630
HelolZ2d £ EHNEEBEZ HOYANE A2 313,944 313,944
201 LB-2d| 60,800 60,800
01 At 22l 29,000 29,000
O0elolsd S AU EXE(HI) sX el
200, 0003 * 10004 2= 20,000
O0eolsd & 2l A4EH gdX=
7,000,000& 7,000
O0elolZ2d 22 EES ME(tUE Y S)
2,000,000 2,000
02 33224l 31,800 0 31,800
OUEO0I=0lAIE FEIIZ At
30,000,000 =14 30,000
O&EJ|erE 2te| iyl 150,000& =123 1,800
206 M= Hl 70,000 0 70,000
01 MHZ 4l 70,000 0 70,000
OZ&EANE RR2EE 422 7Y
1,000,000& »12& 12,000
O3 ,3t&4 BHNERE , =X & #aa2 &
28 § #¢ 4,000,000& x12& 48,000
OS=0l% RA2LE 422
10,000, 0002 14 10,000
301 L2 A S 1,200 0 1,200
11IIEIEAS 1,200 0 1,200
Ooelolsad s SAAILD II2Y3 BE8=
100,000& 128 1,200
401 Al Bl 28I 181,944 0 181,944
01 A& HI 180,000 0 180,000
O0el0IZ3d S BHAAAL ZelSAH(17Y)
50,000,000& » 14! 50,000
O0el0Ia3d S HAAL ZelSAH(27Y)
50,000,000& » 14! 50,000
O0el0Iz3d S 2SAIE 2eSAH(17Y)
40,000,000& » 14! 40,000
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FN: 2R sXSE W
dM: SA=sSAY
SR SASS ¥ =X CERED
SA - BB B () - MM - BES Ol &t o San HmEET
O0NEl0IZzd S 2SAIE 2eSAH(27Y)
40,000,000& » 14! 40,000
03 A& 2 THHI 1,944 0 1,944
OO oIZ3d S HAYAL 22SAH(17L)
50,000, 000% *1.08/100 540
O0el0Ia3d S HAAAE ZelSAH(27Y)
50,000, 000% *1.08/100 540
O0Nel0IZ3d S 2SAIE 2eSAH(17Y)
40,000, 000% *1.08/100 432
O0el0Izd S 2SAIE ZelSAH(27Y)
40,000, 000% *1.08/100 432
0egl0l3& &l 465,900 0 465,900
401 Al HIZ 201 I 465,900 0 465,900
01 A& HI 462,660 0 462,660
OFENE0Z& FHISA 300,000,000 1Al 300,000
OZFENE0IZE ZHSA AAIEHA
300,000,000% *4.22% 12,660
OO0IZ0iel0ISE HOIE=SE HUISA
150,000,000& * 14 150,000
03 A& =2 THHI 3,240 0 3,240
OFENE 0SS ZHISA
300,000,000 x0.72/100 2,160
O0IZ0iel0ISE HOE=SE HUISA
150,000,000 *0.72/100 1,080
OElolIsd s a2l 1,086,000 0 1,086,000
401 Al BIZ 201 8] 1,086,000 0 1,086,000
01 A& HI 1,086,000 0 1,086,000
O179 Kol Z&d EA&el ZAk
99,000,000& » 14! 99,000
O279 HEolZ&d A&l ZAtdl
99,000,000& » 14! 99,000
O3+ HeolZ&d A&l ZAtdl
95,000,000& » 14! 95,000
O479 HEolZ&d A&l ZAtd
97,000,000& » 14! 97,000
O579 HEolZ&d A&l ZAtdI
100,000, 000& * 14! 100,000
O679 HEolZ&d HEAael ZAtd
96,000,000 » 14! 96,000
O779 HEolZ&d A&l ZAtdl
100,000, 000& * 14! 100,000
O8+79 HEolZ&d HAZel ZAkdl
100,000, 000& * 14! 100,000
O9+7<9 HEolZ&d A&l ZAtd
100,000, 000& * 14! 100,000
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FA: 227 sN3
dH: T Al=3ALS
SR SASS ¥ =X CERED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
O1079Y HelolZd EAZtel SAt]
100,000, 000& * 14 100,000
Oy HelolZd EAZtel SAtl
100,000, 000& * 14! 100,000
HelolZ2d £ EHNEEEZ =SHSHYA 392,087 0 392,087
401 Al Bl 28I 392,087 0 392,087
01 A& HI 388,500 0 388,500
OEoIZd S Hals LHMIA(0FE,0l0HS)
60,000,000& =14 60,000
O0E oIz S Hals LHMIBAME 2ES)
60,000,000& =14 60,000
O0glol3d S galls 2MIBA(=U.EXS)
60,000,000& =14 60,000
O0eoIzd & Hals LHMIAH(S3,72018)
88,500,000 » 14! 88,500
O0EoIz3d & dals LHISAH(HR, 25S)
50,000,000& =14 50,000
O0E oIz S Hols LHMIBAH(LE HES)
70,000,000& =14 70,000
03 AIE 2 0HHI 3,587 0 3,587
ONEoIZd & Halls LHMIAH(0FE,0l0HS)
60,000, 000& *0.9/100 540
O0EoIZd & s LHMIBAHME 2ES)
60,000, 000& *0.9/100 540
O0EoIzd S dals LHMIBA (=L, EXS)
60,000, 000& *0.9/100 540
O0EoIz3d & s LHMIAH(S3,72018)
88,500,000& *0.9/100 797
OEoIzd & s LHIBAH(HR, 25S)
50,000, 000& *1.08/100 540
OE o3 & Hols LHMIBAH(SE HES)
70,000,000& *0.9/100 630
BAENNEETZE =522 70,756 0 70,756
401 AIEHIZ 28I 70,756 0 70,756
INE=1:1] 70,000 0 70,000
OBHNMETZ =S HIBA
50,000,000& =14 50,000
OBHNTEETZ LML IS A
20,000,000& =14 20,000
03 Al 20 HI 756 0 756
OBHNMETZ =STXBA
50,000,000 *1.08/100 540
OBHNMESTZ LML IS A
20,000,000 *1.08/100 216
Helol83&d & JIdMAIE 22l 1,410,848 0 1,410,848
201 Let24d] 830,700 0 830,700
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FN: 2R sXSE W
dM: SA=sSAY
SR SASS ¥ =X EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 2324l 830,700 0 830,700
OZLH 0B (aELY IH2S) & =FAH
I3 170,260
-3 . BHNEZ2(SSEN)
140,000 73 A+ 123 122,640
—J22E 180,000 64 A+ 12& 12,960
— 34 15,000 *371 A %123 6,660
—=2=U 700,000 8 A x5 28,000
OTLNE 0B (SHAY INH2S) & =Z AL
SPIECR=) 302,240
-3 (S23X) 100,000 #2201 A %123 26,400
—BdNE=2 50,000 #1710 & +12& 102,600
—StE4A 15,0002 *30f & +12& 540
—=2=0 700,000 *190 & x5 66,500
— S =& AIAE 700,000 =10 A %150 105,000
—ScEAMAE SMR3
50,0003 x20f &+ 12& 1,200
O2Y 28 ZA(SATAY) U 2L 445
23 79,960
— 34 90,000& 370 2 x12& 39,960
—=2x=U 1,000,000& #8IH A 53 40,000
Owl 2@ ZA(s&A) L =ZANE &2
23 278,240
— 34 90,0003 30 2128 3,240
—=2=0 1,000,000 * 190 A +5& 95,000
— ST EAAE 1,200,000 100 A %150 180,000
206 T2 bl 20,000 0 20,000
01 M= 4l 20,000 0 20,000
OBosE ¢ JI28 A2 M(HZ, tFI| 5)
-2 20,000,000& =14 20,000
401 A& HI K 201 I 560,148 0 560, 148
01 A& HI 555,000 0 555,000
OO0gl0I3¥ S HIIAE S22 AH0HE,
Ol M8, 2YS) 60,000,000& =14 60,000
ONE0IZ2d S HIANE FANBUS ALY,
3R, 23 ,7201S) 60,000,000& =14 60,000
ONE0IZ2d S HIANE FANAUSAH(EHL,
25 U M4ES) 60,000,000& =14 60,000
O2323X W HIANE(It2S ) KNN3
A 100,000, 000& * 14! 100,000
Ot E=SAAEE(AT) SANZSAM(HE
s) 100,000, 000& * 14 100,000
Ot E=AAEHE(AT) SAZ2ASMH(SH
s) 50,000,000& =14 50,000




FN: 2R sXSE W
dM: SA=sSAY
@ TAss 2 =32 I (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O0eol2d & 2% 2223 M(EY)
35,000,000 » 14! 35,000
O0eol28 & 2% 2223 AH(ED)
90,000,000 = 14! 90,000
03 A& S THHI 5,148 0 5,148
O0elolZ3d S MIIAIE 2elSAH(0FE,Ol0H,
Ne, 29s) 60,000, 000& *0.9/100 540
O0eloIZ3&d S MIAL ZelSAH(=WH, 83X,
=23,701s) 60,000, 000& *0.9/100 540
O0e 083 S MIALE HelSAH(ELD,2F
=) 60,000, 000& *0.9/100 540
O33ZX W EHIANE(OIZE &) sX&el3
A 100,000,000& *0.9/100 900
Ot E=FFANAH(AHAT) FAZSAH(HS
=) 100,000,000& *0.9/100 900
Ot E=FFANAHE(HAT) FAZ2ASAM(SH
=) 50,000, 000& *1.08/100 540
OORI0IZR L TF 24+B2TA(EE)
35,000,000% *1.08/100 378
O0Eol28 & 2F S22 SAH(ED)
90,000,000& *0.9/100 810
MENRES 729,908 786,571 A 56,663
= 92,251
< 31,660
Al 605,997
METNE B2 54 729,908 786,571 A 56,663
= 92,251
= 31,660
Al 605,997
g—2=NUE B 125,123 121,945 3,178
= 46,849
S 16,452
Al 61,822
101 1A Hl 88,725 84,348 4,377
= 35,490
< 10,647
Al 42,588
04 JIZHHZ2XEE S 88,725 84,348 4,377
OWZgas =&Y 250,000 250
= 100
= 30
Al 120
OdSdZ0Y Xty o2 75,600,000 75,600
= 30,240
< 9,072
Al 36,288
OMEXZ Y 2t 2= 12,875,000 12,875
= 5,150
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2N
X ZH -
L= B

el

Off &t 24

=

i
2

O
O
o
>
an
o
05
I5]

6,000,000&

= N W

8,000,000

= M

6,000
2,400

720
2,880
8,000
2,400
5,600

401 AIEHIZ 2 THYI

= 0N W

4,247
1,698

509
2,040

4,247

01 Al&d

4,247,000&

= N W

4,247
4,247
1,698

509
2,040

4,247

= N W

90,804
45,402

9,080
36,322

66,291

24,513

401 AIEBIZ 2 CHYI

Z N W

90,804
45,402

9,080
36,322

66,291

24,513

01 A€ dl
OFM = Jt3J|

90,804,000&

= M W

90,804
90,804

45,402
9,080
36,322

65,700

25,104

H
fob
I
1=
o

= M

35,924

6,128
29,796

30,324

5,600

401 AIEHIZ 2 I

= i

35,924

6,128
29,796

30,324

5,600

35,924,000

Al

35,924
35,924

6,128
29,796

30,000

5,924

=z
hid
-
o
HT
fol
4o
10
>
e
u

478,057

480,321

A2,264

)
e
s
=

426,789

397,851

28,938

()

~

O S
z
oMoz
o e ooy ry
W > H
FOp=
o
o H
1>

4
0 e

I
4

|
R 10
>

40,100& +34ZH x106
40,1002 «34H x202
40,1003 +34 2 x4

426,789
308,887
144,521
27,268
5,454

397,851

28,938
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2N
X ZH -
L= B

el

BE .G (3) - MM - BES il &t o il
—Re2R=E 40,1003 *1.5+34H 44 89,985
— AL BER 267,228,000% *2.945/100 7,870
—EIRYEE= 7,870,000& *6.55/100 516
— IRz EER 267,228,000% *4.5/100 12,026
—1E28s 4,678

AUS0 267,228,000& *9/1,000 2,406
nEotd 267,228,000& *8.5/1,000 2,272
—dHEE =S 267,228,000& *62/1,000 16,569

OtgEsd o2 104,062
—Jl=s 40,1003 10«16 46,516
B =R E =y 40,1003 10 x24 9,624
—x=g 40,1003 <10 5 2,005
—5YZ2RrE 40,1003 *1.5%«10H 53 31,880
—3UAHLBE= 90,025,000% *2.945/100 2,652
—EIRYEER 2,652,000& *6.55/100 174
— =z EER= 90,025,000& *4.5/100 4,052
— 1828z 1,577

AEEH 90,025,000& *9/1,000 811

NEeHH 90,025,000% *8.5/1,000 766
—&MHEE 90,025,000& *62/1,000 5,582
S22 A (ZAIE) TI=4l 9,520
—&st= 100,000& 34X x23| 6,800
— oM St 70,0003 34X 2,380
— 2X2E 10,000& »34H 340
HEAS Osl 2,520
—dst= 100,000& x9H »23| 1,800
— ot& St 70,0003 94 630
- 2E 10,000& »9H 90

OXte 253 1Ol=h| 1,800
— &S 100,000 10 1,000
— g3 70,000& 10 700
- 2% 10,000 »10H 100

U2 oyl 16,550

AHE 2t el i 13,400

OMER A2ASX EAIE HMZ

10,000& *3000H 3,000

OM= &R & sEeE X =2 M

30,000 * 100 0K 3,000
O&E&RX HIAZRX SAH|
7,000& 58 x1002 3,500
OQUEYUX SAE 2= (23S
300,000 »3H 900
28I X2l 50,000& »36CH 1,800
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SN FE - EA(SA) - MRAY - BES il Bl RE2
Oty 2|8 223 100,000& »12& 1,200
02 =24l 3,150 3,150 0
OJIAFHI(S, M=) 87, 228 % =d
=l 70,0003 +9CH +53] 3,150
203 YR =&y 2,480 2,480 0
03 AIZ=XH 2= H| 2,480 2,480 0
OJIZHZER(MEZAE S) 23l
1,240,000& 23| 2,480
401 AIEHI L 2] 32,238 60,540 228,302
01 A& HI 32,000 60,000 A28,000
OMdt== HMH &L 22l 3A
22,000,000 * 14! 22,000
OUE U MEBZAIANE S AIES 2elSA
10,000, 0003 * 1Al 10,000
03 A2 2 THHI 238 540 A 302
OMdt== HMH &L 22l 3A
22,000,000% *1.08/100 238
HE2AIH(2EET =X321) 203,573 198,853 4,720
el 2 134,741 124,093 10,648
ol 2l 134,741 124,093 10,648
101 124 dl 134,741 124,093 10,648
03 RIAHAZZ2TE = 134,741 124,093 10,648
o33 134,741
—Jlas 2,045,980& «3H x12& 73,656
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OLFY U CHNIS S 2TA 24
00,000& x12& 3,600
405 XH&HE S b 400 400 0
01 AL E B F S| 400 400 0]
OL&A == CXE It02HHA)
400,000 = 1CH 400
HEMSAAY(2Y P TAIO2DH) 217,903 2,670,768 N2,452 ,865
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Jt2ste FHl 5,000, 000& 1Al 5,000
OS0tZ 256812 FQMEH Hatd AEEOIA|
& &X 1,000,000 * 1Al 1,000
B2 (SU3S) 72,087 72,904 ~817
el 2l 28,227 26,444 1,783
ol 2AH| 28,227 26,444 1,783
101 1244 Hl 28,227 26,444 1,783
03 RIAHAZ 212+ 28,227 26,444 1,783
OsF=UdEH FA2C& 28,227
—JlZ2s
(1,625,310& 10 )+(1,643,7502 x2& ) 19,541
— W Z A 90,000 »12& 1,080
— ZE S| 1,625,310& *100% 1,626
—JIE=E 20,0002 128 240
—AN2e2fsg
(7,610 102 +7,690 «2& )+ 1. 581 *15A] 2F 2,059
—pYuIRLy
(7,610« 102 47,600 22 )1 . 58 «BAl 2F*2 2,196
Ql
—Qx=g 7,690 «8Al 2+ x 162 985
—dHEE S 27,727,000& x18/1,000 500
Jl2&dl 43,860 46,460 A 2,600
Jl2&l 43,860 46,460 A 2,600
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201 Lt 17,700 16,200
01 At 22l 17,700 16,200
OR A2l 80,000 «9H «12& 8,640
OJle sl 70,0002 «9H 128 7,560
oggegs + 1,500,000 * 1Al 1,500
202 (44l 16,200 16,200
02 FHOHI 16,200 16,200
OEHH 150,000& x9H «123| 16,200
203 YR =&l 9,960 9,960
01 JI122E =4 6,600 6,600
OJIZ22Z YR =8l 550,000& »12& 6,600
02 It =2 360 360
OIS R =&Y 40,0003 »9H 360
04 RENSEHR=LH 3,000 3,000
ORNMSIYRFLH 250,000& 122 3,000

- 125 -




== A
N = 0] &F AF S & AN A
20148 = 20 A LEHS|H LV JIEISES H 2R #EXJNL ~ 5=
SN BAS
Mz XXX EEH & 2tel Z Yl
SR KSR S &0{2elF (2 &HH)
2 S 4
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= 996
Al 712,542
NSRS &0122 E ] 1,992 0 1,992
= 996
Al 996
NI SH & 422 Z 1,992 0 1,992
= 996
Al 996
HRESAXNYHN =& 1,992 0 1,992
= 99
Al 996
101 Q1 24| 220 0 220
= 110
Al 110
04 JI2ZtHIZ22 NEES 220 0 220
OHNb6al EZ2SsSAIXNEEH JI2HH2 2R 2182
40,0003 x1H x5 5 220
== 110
Al 110
201 et 1,412 0 1,412
o= 706
Al 706
01 AP 2t 2| H| 1,412 0 1,412
O3 MIASAINLEN LREH Yura gy
1,037,900& 1,038
= 519
Al 519
OHMBE =S AXNEENH RFE S|
7,000 *10.67L x5H 374
== 187
Al 187
202 044 100 0 100
o= 50
Al 50
01 2Ll 100 0 100
OHM63l d=2SAANSEH S2=& 0]
10,000 x5 %22 100
o=t 50
Al 50
203 AR =X Y| 260 0 260
= 130
Al 130
03 AIZH =& 2= X H| 260 0 260
OHN63l d=2SAMANLEH S2F=XH|
65,000& *43] 260
o= 130
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1S FUXNXMEH 2 618,957 443,446 175,511
FOXXIMEH &4 35t 431,995 381,516 50,479
FURXAEE 29 160,425 117,280 43,145
201 £B-2%H| 29,800 23,560 6,240
01 At 22l 22,800 16,560 6,240
OFQNIMESY Lsta Y|
600,000 12& 7,200
OFURXIIA 5o BELY
50,0003 26«12 15,600
03 A2 Z Hl 7,000 7,000 0
OFUXXHH HBSLESI 3,000, 000& 3,000
Ofz FUXNXME AsH, NHZ2AX WF &
FaEAE 4,000,000 4,000
203 R =& 600 600 0
03 A BFAH R =AY 600 600 0
OANEAHF=H 600,000 600
301 LA Z 112,275 89,880 22,395
1MIIEESS 112,275 0 112,275
OFLUXXIEE XJSAX AH 24
25,0003 x312H «12& 93,600
OFAUXXHAEH AlZ2el NASAX A2 4
25,0003 *3H »249L 18,675
405 TtabF S| 17,750 3,240 14,510
01 AL EFH S 16,750 2,240 14,510
OANEZBEEE LEDEZ AR (&)
15,500, 000 * 1 CH 15,500
OBdHU (&) 50,000 =104 500
OZ2HOI S RH( & 77) 50,0002 » 154 750
02 S A7l 1,000 1,000 0
OEM7Y 1,000, 000& 1,000
QRAAEXN 2 50,470 43,136 7,334
201 Let249] 39,340 39,136 204
01 At 22l 15,600 15,600 0
ORIYEE AR At :gHY|
1,300,000& =122 15,600
02 =24l 23,740 23,536 204
O0&sRERS 1,400,000 128 16,800
OQZESHE eHUE &5 250& 10,000 2,500
OERERZ 1,500& 308 128 540
OSg&gLSIl A2l
65,0003 «5CH =128 3,900
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405 At&tE =HI 11,130 4,000 7,130
01 ML ESFHSH 11,130 4,000 7,130
O2AESII(THAN) 550,000 »1CH 550
OSEgsge=I & AMU(AR)
10,580,000 *1CH 10,580
s.88 g3X¥ 215,500 215,500 0
301 eetE o= 215,500 215,500 0
06801 -t¥Es2d= 215,500 215,500 0
os&+¢ 200,000& 60 »143] 168,000
Os&zo &g 20,0008 +60E «23| x12& 28,800
ogtd =+ 25,0003 x374E »23| 18,700
MWRE =252 2SI 5,600 5,600 0
301 LetEa = 5,600 5,600 0
09 AL HIEA S 5,600 5,600 0
ONRe =252 US| HEA FHI sS4l
7,000 50 x22| «8& 5,600
s BAN2E 158,090 61,930 96,160
FMN2E 3] 42,790 36,930 5,860
201 fEt2E | 42,390 36,930 5,460
01 AtR 2t 2l | 7,230 5,600 1,630
OTfat2te] diet=EH| 300,000& =123 3,600
OSFsT & UE &3 3,630
— S=EX 330,000 »114] 3,630
02 s5=9Hl 35,160 31,330 3,830
OAE=S A HZAHI 550,000& 550
O33a= & HA 12,500
—&Jles 800,000& »12& 9,600
— 4otk 23 100,000& »12& 1,200
—NSiHA € EE& 1,200,0003 = 1CH 1,200
—JIet 332= 500,000& 500
O =H| 9,600
— A I 800,000& »12& 9,600
OAZ &l sXH| 7,680
— RZHAAY 92 120,000& =123 1,440
—A2UAI ESE 20,0003 122 240
—IAMN Z AME=S FX22Y
500,000& »12& 6,000
Oxtg |l 300,000& »12& 3,600
OAEe HEY HEANE R3S
123,000& *10kW 1,230
405 At&tF S HI 400 0 400
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SIS FUAd
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M0
02

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
01 AL 2B F SHI 400 0 400
O&ESxE s A(AR) 400,000 = 1CH 400
HAMESEIN A 10,000 25,000 A 15,000
401 Al HIL 20| 10,000 25,000 A 15,000
01 Al bl 10,000 25,000 A 15,000
OYAIEA AME2 B3 A 22U
10,000,000& 10,000
FOIHE A8 =X 105,300 0 105,300
201 LEt2AY| 56,500 0 56,500
01 AFR2t2l bl 56,500 0 56,500
OYAIEAOI MO [HE OlAHYI
30,000,000 * 14! 30,000
O&a SAIEHl 0l &b 5,000, 000& * 14 5,000
Oduedl 0ol &l 500, 000& = 15CH 7,500
OYAIEA OIHN E 223HI
3,000, 000& x 14 3,000
OF0SE 2 o|&Y| 3,000,000 * 14 3,000
OXotAMDD 2 o]&d| 5,000, 000& x 14 5,000
O & Xl 0l &bl 3,000,000 * 14! 3,000
401 Al HIL 201 46,000 0 46,000
01 Al bl 46,000 0 46,000
OYAH A CHLES T 5,000, 000& * 14 5,000
OFQHME AFAHAIZ L 2T
3,000, 000& * 14 3,000
OF0HE &9 HAH 4,000,000& =14 4,000
OFQHME =I1 AN 5,000, 000& * 14 5,000
OQIRA U SHA BB 4,000,000 14! 4,000
OxE ot E& 3,000,000 * 14 3,000
OFED Y 2AM1D dBF &X 5,000, 000& *x24! 10,000
ORAHIAE 0l &X 1,000,000 x24 2,000
OCCTV Ol & & Xl 2,000, 000& 24 4,000
OHEZ &X 3,000,000 * 14! 3,000
OADEHAIE ED{ & 0| ™Y
3,000, 0003 =14 3,000
405 XH&HF S HI 2,800 0 2,800
01 AL 2B F SHI 2,800 0 2,800
OUAHAF DIRAASA AT Y EFXH(AMR)
2,800,000& x 14! 2,800
ZFOIHO ALY 28,872 0 28,872
OFM A0S AIE 2 JHI 3,000 0 3,000
401 Al HI L 2 0HHI 3,000 0 3,000
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DR EoAY

= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
01 A& bl 3,000 0 3,000
O&Dlu, #3w & &4 - B0t ESLNE
2 N8 =540 2 3,000,000 » 14! 3,000
22 ZHIBA 9,072 0 9,072
401 Al Bl 28I 9,072 0 9,072
01 A& HI 9,072 0 9,072
OLEIOIS HsEX 0ldEz ggg0 &4
A 12,600& *720 9,072
HEEHH FZ 16,800 0 16,800
401 Al& Bl 28I 16,800 0 16,800
01 A& HI 16,800 0 16,800
OOIME2Y HME L ®A, BAEE SHAEF
Hl 22l At 15,000, 000& * 14! 15,000
OFXL=Z, 2M22 S EXEZ22U M
9,000& *200& 2t 1,800
HE2AHU(FIHS) 92,589 83,429 9,160
el 2l 30,729 28,849 1,880
ol 2| 30,729 28,849 1,880
101 @14l 30,729 28,849 1,880
03 RIAHAAZZRE > 30,729 28,849 1,880
OsFQUdH FA2el& 30,729
=
(1,717,510& 102 )+(1,735,960& »2& ) 20,648
— ZWHZ A 90,000& »12& 1,080
— BE S0t 1,717,510 *100% 1,718
—JIE=E 80,000& »12& 960
SR EELE
(8,020 * 1024 +8, 1002 x2& ) 1. 581 *15A1 2+ 2,169
—gu2esg
(8,020 * 102 +8, 1002 27 )« 1. 581 *BA| 2+ »2 2,314
Ql
Sl DN ER= 8, 1003 *BAl 2t+20 1,296
—dTHEE S 30, 185,000% *18/1,000 544
=3l 61,860 54,580 7,280
Jl23Hl 61,860 54,580 7,280
201 Let24dH] 25,200 21,600 3,600
01 At 22/l 25,200 21,600 3,600
ORA2gH| 80,000& «14H 128 13,440
OPIE=1i:] 70,0003 14«12 11,760
202 odl 25,200 21,600 3,600
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H: HHE2IAH(HIHS)
el JI=23Hl

SA - ZE-B(EN) - NRAY - B S il &t o il

02 N 25,200 21,600
OEHo 150,000& x14H 128 25,200

203 YR =&t 11,460 11,380

0 J22F PR =8| 7,900 7,900
OJ|22d I Fat| 7,900,000& 7,900

02 3t =2 560 480
OF AL R E T 40,0008 *14% 560

04 BENSSHRF=LHI 3,000 3,000
OFRN2IYSZ=AHI 250,000& 128 3,000
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A & 0l & AF 2 E A A
20143 & =04k LBHSIAHLIIEISESIH 227 HEXNFYN ~ 25 S
AN BX2S
M NYNXSM &2 ZH
Chelr XYXXISM &H42el (&)
2 S 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
FN2s 499,395 453,767 45,628
< 778
Al 498,617
A& XX EH & 0122l S 1,555 0 1,555
< 778
Al 7
N YIRS &2 3| 1,555 0 1,555
< 778
Al 7
HIASANSEEN =& 1,555 0 1,555
< 778
Al 7
101 @124l 220 0 220
< 110
Al 110
04 JIZHHZ2Z2XNESE S+ 220 0 220
OHM63l M= AXNLENH JIZHZZ2A 22
40,0003 1 +5.5< 220
< 110
Al 110
201 Let249] 975 0 975
< 488
Al 487
01 At 22/l 975 0 975
ON6sEl MISAXNLHAN HRFZR det=>ZH|
600,920 601
< 301
Al 300
OMeal d=SAMALEN I2FA S|
7,000& *10.672+5H 374
< 187
Al 187
202 04l 100 0 100
< 50
Al 50
01 = LH 4 Hi 100 0 100
OHN6zl d=sSAXNLEH dRFE 04l
10,0003 x5H »22 100
< 50
Al 50
203 B R =&l 260 0 260
< 130
Al 130
03 AIMZ=XH R =AH| 260 0 260
OHesl MISAXNLLHN HRF=AH|
65,000& *43] 260
< 130
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2N BR28
M NSNS dA22 3

S XY dH2el 3| (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
1] A T30
dN2s FUNXCMHSE 420,221 378,698 41,523
FOXXIMEH &4 35t 317,199 303,360 13,839
FURXAEE 29 167,450 123,440 44,010
201 £B-2%H| 28,300 20,400 7,900
01 At 22l 21,300 15,400 5,900
OFQNIMESY Lsta Y|
400,000& 123 4,800
OF XX HEH A A X 2t 1,500, 000& 13l 1,500
OFUXNXAES &G
50,000 «25H « 12 15,000
03 &Ar2 I 7,000 5,000 2,000
O XXNHH HZLHE3 3,000,000 3,000
OXNMZHEINZ sy ¥ FNXHAEH A
2,000,000 2,000
OMASE 4 MESHS 2,000,000& 2,000
203 R =&t 600 600 0
03 AIHF=X AR =AY 600 600 0
OAEAHFZ 600,000& 600
301 et A3z 113,050 90,440 22,610
11IIEtEA S 113,050 0 113,050
OFURXIME KA SAXH(ZHAL) AU 24
25,0003 x310H «12& 93,000
OFUXXHEH AlZ2cI X3S AR AU 24 20,050
—3g 25,0003 *3% 250 18,750
- =g 25,0003 «1H 52 1,300
401 AIEHI L 2CHEI 22,000 12,000 10,000
01 A& HI 22,000 12,000 10,000
OFURXIHE =X F=XH2M AIAE 2X3
At 22,000,000& =14 22,000
405 XtAHE SHI 3,500 0 3,500
01 AR ESFH S 3,500 0 3,500
OFQUXNXMEYH 25 HE daHS (&)
700, 000& «5CH 3,500
AR Xel 29 24,429 54,600 A 30,171
201 Let24d] 24,429 21,600 2,829
01 At 2teltl 14,340 12,000 2,340
ORlASy gL Ygtagy
1,000,000& =123 12,000
OSEsZLa ALY FA22 E=H
65,000 «3CH 122 2,340
02 232gHl 10,089 9,600 489
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SV
NS FUNXHAEHZE
CFUNXIME 243t

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OFVESEESRERS 800,000& x12& 9,600
OEtERER 2 1,630& *30021 489
s, HE 2513 121,820 121,820 0
301 LBt A= 121,820 121,820 0
0BCSHE -0 -EHEESEMN= 121,820 121,820 0
Os&+Y 200,000 x34H x14 3] 95,200
Os&3 o &EF&H 20,0003 x34H »23| x12& 16,320
Oet& 4 25,000& 206 H 23| 10,300
MR =252 US| 3,500 3,500 0
301 et A= 3,500 3,500 0
09 HAIAHIBEAZ 3,500 3,500 0
ONMRs SS2LASIUHEA EOHA SANS
7,000& x50H x13| 10 3,500
SEAMNESIE 73,022 75,338 N2,316
HAI2E EH| 73,022 75,338 N2,316
201 Bt 72,622 69,838 2,784
01 At 22l ] 7,600 3,600 4,000
OA-Z2] LBt FH]| 300,000& x12& 3,600
OFAN 218 HEA 2,000,000& *14] 2,000
OFAN AIAE HHAH ZH HNA
100, 000& *20CH 2,000
02 352494 65,022 66,238 N 1,216
OAFE A HXAH| 550 *x2,151m* 1,184
03322 % MA 34,000
— M2 2,500,000 x12& 30,000
—&olxE 22 200,000& x12& 2,400
—XANsSIAH & 282 1,000,000& = 1CH 1,000
—JIEt 5322 600,000& 600
OH ZHl 7,200
— Xl & LhEhH| 600,000& x12& 7,200
OA&E & Hl |AlHl| 19,038
—&J|ot™ 2N =42 170,000& ~12& 2,040
— g2 === 150,000& *12& 1,800
—sZJ|2etd =2 250,000 x12& 3,000
— 2O0IHHIAIAE 516,500& x12& 6,198
— JIEF A& S X 22l 500,000& x12& 6,000
OXt& = X bl 300,000 x12& 3,600
405 XHo&HF S HI 400 0 400
01 JHAY =2 E F S H 400 0 400
OozExe SHEA(AMF) 400,000 = 1CH 400
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SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
FOIEHOI ALY 30,000 0 30,000
A2 HHIBA 12,000 0 12,000
401 AlEHIZ 2 0HY| 12,000 0 12,000
01 Al&H| 12,000 0 12,000
OFXE 148X S B39 A dlse0 =42
AF 7,000,000& x14! 7,000
OS2 (ZE20ISAHHEI~E E0tSAIAHE) EXE
S22l M= 5,000,000& x14l 5,000
MEEtH M| 18,000 0 18,000
401 A& HI L 204 HI 18,000 0 18,000
01 Al&H| 18,000 0 18,000
OFXNS 108HX S 3MHA =0l=H(EX) M
& A 6,000,000 *3H 18,000
HES2AAH (HX2S) 77,619 75,069 2,550
olad 2 A Y| 27,979 25,429 2,550
ol A | 27,979 25,429 2,550
101 @121 | 27,979 25,429 2,550
03 RIAHLZ2ZZ2XE S 27,979 25,429 2,550
OSF0HME HA22SH 27,979
A=
(1,643,750 112 +1,662,200 18 ) 19,744
— HHZAH| 90,000 ~12& 1,080
— @& S0 1,643,750 x100% 1,644
—JIESE 60,000& ~12& 720
RGeS
(7,690 x112+7,780 18 )1 .58 x 15A| 2+ 2,079
~su224g
(7,690 112 +7, 780 » 1 )1 . 5HH x8A| 2+ %2 2,217
ol
—MHEE = 27,484 ,0009 x18/1,000 495
Jleddl 49,640 49,640 0
Jl2 &4l 49,640 49,640 0
201 LBt ]| 19,800 19,800 0
01 AP 22| H| 19,800 19,800 0
OFMdS84d9tl 80,000& »11H x12& 10,560
OJlE22 &l 70,0003 x11H 128 9,240
202 o4l 19,800 19,800 0
02 NI 19,800 19,800 0
OgHAHY| 150,000& x 11 x12& 19,800
203 € R F=&d| 10,040 10,040 0
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20143 & =04k LBHSIAHLIIEISESIH 227 HEXNFYN ~ 25 S
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M NYNXSM &2 ZH
Chelr XYXXISM &H42el (&)
2 S 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
T3S 408,770 370,804 37,966
< 762
Al 408,008
A& XX EH & 0122l S 1,524 0 1,524
< 762
Al 762
N YIRS &2 3| 1,524 0 1,524
< 762
Al 762
HIASANSEEN =& 1,524 0 1,524
< 762
Al 762
101 @124l 220 0 220
< 110
Al 110
04 JIZHHZ2Z2XNESE S+ 220 0 220
OHM63l M= AXNLENH JIZHZZ2A 22
40,0003 1 +5.5< 220
< 110
Al 110
201 Let249] 944 0 944
< 472
Al 472
01 At 22/l 944 0 944
ON6sEl MISAXNLHAN HRFZR det=>ZH|
569, 120& 570
< 285
Al 285
OMeal d=SAMALEN I2FA S|
7,000& *10.672+5H 374
< 187
Al 187
202 04l 100 0 100
< 50
Al 50
01 = LH 4 Hi 100 0 100
OHN6zl d=sSAXNLEH dRFE 04l
10,0003 x5H »22 100
< 50
Al 50
203 B R =&l 260 0 260
< 130
Al 130
03 AIMZ=XH R =AH| 260 0 260
OHesl MISAXNLLHN HRF=AH|
65,000& *43] 260
< 130
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Hl A T30
HAN3S FOUXNXHEH &9 336,174 302,130 34,044
FOXXAH 435 249,970 244,370 5,600
FOUNXMEH 29 141,100 103,840 37,260
201 Bt A | 30,200 24,200 6,000
01 AP 22l Yl 24,200 18,200 6,000
OFUTXME S Yo+
600,000& *12& 7,200
OFQIXXIAE AKX M2 2,000,000& 2,000
OFUXXRKE 3o EHALG
50,000 25H x12& 15,000
03 S AIS H H 6,000 6,000 0
OFUXNXHMEH HSLES 3,000,000& 3,000
OFUXXHMEH ASt L NE 3,000,000& 3,000
203 YR =AY 600 600 0
03 A =X R =XIH| 600 600 0
OANEAHFEZA 600,000 600
301 dBEtE A= 99,300 77,040 22,260
M IIEtE A S 99,300 0 99,300
OFUXNXHEH XS AL AH 24
25,0003 x285H x12& 85,500
OFUXXHE AlE82el N2 ALL AlY 2 A 13,800
—Ha 25,000& *2H »250 12,500
—F% 25,0003 1«52 1,300
405 XH&HF SHI 11,000 2,000 9,000
01 A&t =S F SHI 10,000 0 10,000
20013 AIAE(THA) 2,000,000 «2K E 4,000
OMgeaAa dAd|R 6,000
—olOIZ2I(THA) 2,000, 000& =1CH 2,000
—da=ZaA(AR) 2,000,000& =1CH 2,000
— MOIZ2 (&) 2,000,000& = 1CH 2,000
02 &M bl 1,000 2,000 A 1,000
OFUXXHEH T A 10,000& x100& 1,000
AR He 29 19,500 51,160 AN 31,660
201 LEt2AY| 19,500 17,340 2,160
01 AFR2t2l bl 11,760 9,600 2,160
OolEsy gL Ystagy
800,000& x12& 9,600
Osesdez3)| |FAE
60,000 3 x12& 2,160
02 33249l 7,740 7,740 0
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09 HAIAH EA =S 3,500 3,500 0
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OMate] LBt =H| 200,000& ~12& 2,400
02 352494l 38,044 34,960 3,084
OAFE A HXAH| 500! 1,367 m 684
03322 % MA 15,200
—MIR22 1,000,000& ~12& 12,000
—AEER= 100,000& x12& 1,200
— 4SS 2= 1,000,000 1,000
—JIEt 5322 1,000, 000& 1,000
OH ZHl 8,000
— & Ab ey 1,000,000 8 8,000
OAl& Z&Hl |4l 10,560
— ABAIE gtgt2te] & 110,000 x12& 1,320
— RO FHANAE B9 & 170,000& *12& 2,040
—3AF L AIEE K22l
450,000 x12& 5,400
— JIEF A& &HI S XY 150,000& ~12& 1,800
Oxtg XY 3,600
— 2SI Al 3,600,000& = 1CH 3,600
405 Ko SHI 400 0 400
01 M =S FSHI 400 0 400
OzEaXY SHLEA(AF) 400,000 = 1CH 400
HALEEIN A 15,360 20,400 N5,040
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fAM: BX3S
g dN3s FUNXME 2
Sel S MY CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
401 A& HIZ 201 I 15,360 20,000 AN 4,640
01 A& HI 15,360 20,000 A 4,640
O3Z st&a L3 M 9,000, 000 1Al 9,000
OIS XHEEX &I SA
3,000,000& =14 3,000
OFAL =& 22| 3 At 3,360,000& » 14! 3,360
FOIHEOIALS 30,000 0 30,000
A2 ZHISA 21,800 0 21,800
401 Al HI K 201 21,800 0 21,800
01 A& HI 21,800 0 21,800
OZXNs 21981 X 2 =X 320 =£3
At 12,6003 25000 A& 3,150
OFX= 2158 X 2 1A a2 SHE 3 At
2,850,000& x 14! 2,850
Os0t2 ¢& S M3X0l 2l S2ANESE
=l 3,500,000& =14 3,500
Os0t2 23 S U2 ZHESAM
12,300, 000& 14 12,300
MEEH F| 8,200 0 8,200
401 AIEHIZL 201 8,200 0 8,200
01 A& HI 8,200 0 8,200
Osit2 g2 8 2 £E2¥ 25 HMx=xg
700& +6,000m’ 4,200
OZXs 21981 X 2 ©=8X =XHg7E &
Xl 200,000 2001 2 4,000
HY2AZH (HA3S) 71,072 68,674 2,398
el 2 28,712 26,314 2,398
ol 2A| 28,712 26,314 2,398
101 @124 Hl 28,712 26,314 2,398
03 RIAHAZZ2TE = 28,712 26,314 2,398
OsF2U4dH FArze & 28,712
—Jlz2s
(1,662,200 52 )+(1,680,630& *7& ) 20,076
— M Z A 90,000 »12& 1,080
— EEFOt
(1,662,200&+1,680,630& ) *50% 1,672
b ECE
(7,780 +52 17,8602 »7& )*1 .58 x 15 Al 2¢ 2,114
- gu294g
(7,780 +52+7 8602 72 ) * 1. 58 *8Al 2+ *2 2,255
ol
— XY 7,860 «BAl 2t+16L 1,007
—MTHEE S 28,204,000& *18/1,000 508
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2AM: X3S
H: HH2HAH (HA3S)
el JI=23Hl

SA - BB (3) - NRALY - BES Of & o8 il
JlE &3l 42,360 42,360
JlE&l 42,360 42,360
201 €24 16,200 16,200
01 At 22l 16,200 16,200
OfNM2gHI 80,000 «9H « 122 8,640
OJle s gl 70,0002 «9H 12 7,560
202 Odl 16,200 16,200
02 M0 16,200 16,200
O HNH 150,000 x9H «12& 16,200
203 R =&t 9,960 9,960
01 J122E YR =2H 6,600 6,600
OJlZ2g g2 F&| 550,000 122 6,600
02 33 H 2= 360 360
OFAINH S = 40,000& »9H 360
04 FN2ELRZ=TH| 3,000 3,000
ORAN2EYEF=AHI 250,000& 128 3,000
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= o
A & 0l & AF 2 E A A
20143 & =04k LBHSIAHLIIEISESIH 227 HEXNFYN ~ 25 S
SN HEIS
M NYNXSM &2 ZH
S XY dH2el 3| (&)
2 S 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ME1s 588,845 484,033 104,812
< 868
Al 587,977
A& XX EH & 0122l S 1,736 0 1,736
< 868
Al 868
N YIRS &2 3| 1,736 0 1,736
< 868
Al 868
HIASANSEEN =& 1,736 0 1,736
< 868
Al 868
101 @124l 220 0 220
< 110
Al 110
04 JIZHHZ2Z2XNESE S+ 220 0 220
OHM63l M= AXNLENH JIZHZZ2A 22
40,0003 1 +5.5< 220
< 110
Al 110
201 Let249] 1,156 0 1,156
< 578
Al 578
01 At 22/l 1,156 0 1,156
ON6sEl MISAXNLHAN HRFZR det=>ZH|
781,880& 782
< 391
Al 391
OMeal d=SAMALEN I2FA S|
7,000& *10.672+5H 374
< 187
Al 187
202 04l 100 0 100
< 50
Al 50
01 = LH 4 Hi 100 0 100
OHN6zl d=sSAXNLEH dRFE 04l
10,0003 x5H »22 100
< 50
Al 50
203 B R =&l 260 0 260
< 130
Al 130
03 AIMZ=XH R =AH| 260 0 260
OHesl MISAXNLLHN HRF=AH|
65,000& *43] 260
< 130
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BAH: ME1S
HE: XSS &2 3l
S NSRS &H22E (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
Hl A T30
ME1s F=XNXLMEH 29 502,020 400,818 101,202
FOXXAH 435 382,610 324,154 58,456
FOUNXMEH 29 206,655 146,340 60,315
201 Bt A | 29,200 23,200 6,000
01 AP 22l Yl 24,200 18,200 6,000
OFoUXXHEH 23H| 600,000& x12& 7,200
OFXXHEH NAAMX L2t 2,000,000& 13 2,000
OFUNKSH SoABA &g
50,0003 x25H x12& 15,000
03 M AtE L 5,000 5,000 0
OFUXXHEH HSLHT 3,000,000& 3,000
OFUXXMEH Ast L NE 2,000,000 2,000
203 € R =&lY| 600 600 0
03 Al Z=A SR =AH| 600 600 0
OAE A =& 600,000& 600
301 dEtEAZ 160,375 121,640 38,735
11 IIEtE &2 160,375 0 160,375
OFQUXXIME X SAKX(ZA) AHEA
25,0003 x468H x12& 140,400
OFQUXXHE KESALRH(AIE 22 X)) AHIE
o 19,975
—Ha 25,000& *3Y »249 18,675
—F% 25,0003 1«52 1,300
405 XH&HF SHI 16,480 900 15,580
1 A2 =S FSHI 15,480 900 14,580
OIIME ZAHO0I0(CHAN) 140, 000& «2LH 280
O=Z2A(THA) 3,000,000& *1CH 3,000
OSK 001 (CHAN) 600, 000-& *2H 1,200
OFUXNXME DNESZEE(UA)
1,100,000& = 10CH 11,000
02 &M+t 1,000 0 1,000
O M-I 10,000& x100& 1,000
DRAHEXN 29 33,645 35,504 A 1,859
201 LEt2 Y| 31,445 30,204 1,241
01 A2 22| 8l 12,000 12,000 0
OLIAMHE LRE=X £=EH| 1,000,000& x12& 12,000
02 3524l 19,445 18,204 1,241
O0ls R*ER=2 1,900 650 128 14,820
Obts RER= 1,630& 458 x12& 881
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2N
X ZH -
L= B

el

NERES
NE1S

F O XX A E
FOTRMEH 435

2o

T o

SN EH - (EH) - HRAY - BES 0] &k o4 il Hl D2
SEEEEEERIEREELD
78,0002 =4CH 128 3,744
405 XtorF S| 2,200 5,300 A3,100
01 &L 225 St 2,200 5,300 ~3,100
oDEeEs AFEH TA(HA)
1,100, 000! *2CH 2,200
.oz gsx8 135,310 135,310 0
301 YerE A 135,310 135,310 0
055X - 01X - ESSEAS 135,310 135,310 0
OsZ+y 200,000 +37% * 142 103,600
OSH sloaa4gy 20,0008 +37% 23| 128 17,760
oetE sy 25,0009 *279% 25| 13,950
WRE BSY o)) 7,000 7,000 0
301 YerE A S 7,000 7,000 0
09 BAAHI 2 A S 7,000 7,000 0
OMBS BSY 2SI HE2 01X SAH|
7,000%! +50% +25] + 102 7,000
SN 29 89,410 76,664 12,746
HA2 2 86.110 76,664 9,446
201 Yete | 84,497 76,664 7.833
01 AR 22/t 3,480 5,480 A2,000
OMarel 2prs ] 130,0002! * 122 1,560
OF4I YR 40,0008 *4CH =128 1,920
02 BB 81,017 71,184 9,833
OASZE S XA 5502 %2, 855M 1,571
0B8R2 2 HA 21,100
—®II23 1,500,000 * 12 18,000
—4ot4E 23 150,0008! 128 1,800
— NS L 2EE 800, 0002 *1CH 800
-JlEet 2223 5000008 500
OS2I 30,000
— At 23 2,500,000% 128 30,000
ON&ZHIRX b 24,746
—FIlotE PR IBA4SE 122,008 +128 1,464
—gsiBe HHLr42 120,0008! 128 1,440
— 20 +48 170,0002! * 122 2,040
—SAIBR BLE4Z 270,008 *128 3,240
— W, Ll A2F DA 2,420,0008 «14] 2,420
—d )| YrEE TRy
1,821,000 * 14! 1,821
— el FA 143,000 #47CH 6.721
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2N MBS
M NE1S FULNXAEH 29

SRl SHA 29 EERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
—=SY%3 F3A 400,000& *23] 800
— JIEFAIE S X ] 400,000& 12€ 4,800
Ox&x Xyl 300,000 x12& 3,600
405 XHoHFE S HI 1,613 0 1,613
01 XA 2B F S| 1,613 0 1,613
OSZF=0IMEH CCTV & X (A7) 404,250 *3CH 1,213
OESIe SaELA(AR) 400,000 «1CH 400
HALEE & 3,300 0 3,300
401 AlEHIZL 2 0HY| 3,300 0 3,300
01 Al gl 3,300 0 3,300
OXotFEXE 85 5 T AHIBA
3,300,000& x14l 3,300
FOIEHOI ALY 30,000 0 30,000
A2 HHIBA 15,500 0 15,500
401 AlEHIZL 2 0HY| 15,500 0 15,500
01 Al&H| 15,500 0 15,500
O=SYZRAZ2, SNMEZ E HI2e0 =TLEAY
12,600 *600H & 7,560
ONMEZ2, 282 S BEXNTEA HNEANY
7,940,000 x 14! 7,940
MEEA HH| 14,500 0 14,500
401 A& HI L 204 HI 14,500 0 14,500
01 Al&H| 14,500 0 14,500
ONE=E 828 24X BHSHINLAY
3,500,000 14! 3,500
OMOIS2H 2dll=237 ¥ =22 JI2AEHIAIY
11,000,000 14l 11,000
HER2AAH (ME1S) 85,089 83,215 1,874
ol 2 A Y| 30,509 28,035 2,474
oled A | 30,509 28,035 2,474
101 21 21d| 30,509 28,035 2,474
03 RIAHL*Z2ZZXE S 30,509 28,035 2,474
OSF0HE HA22E 30,509
—-Jl2=
(1,717,510« 112 )+(1,735,960 x 1& ) 20,629
— M ZAH| 90,000 x12& 1,080
— HAE S| 1,717 ,5102 *100% 1,718
—JIEXE 80,000& ~12& 960
L ECELE
(8,020 x112 48,100 18 )1 .58 x 15A| 2+ 2,168

- 145 -




A HEIS
M HH2IALH(ME1S)
chel: ol gyl CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
—fgoe4g
78,020%*11%4-8,100%*1%)*1.5HH*8/\|7J*2 2,312
2
— QX 8, 1003 *BAl 2t+17L 1,102
—MHEEZ 29,969, 000% *18/1,000 540
JlE3l 54,580 55,180 A 600
JlE2&l 54,580 55,180 A 600
201 LBt2E| 21,600 21,600 0
01 At 22l 21,600 21,600 0
FA2EH| 80,0003 12«12 11,520
OJles gl 70,000& 128 «12& 10,080
202 Od4dl 21,600 21,600 0
02 M0 21,600 21,600 0
O HHI 150,000 x 12 «12& 21,600
203 YR =2l 11,380 11,380 0
01 )1 22H =8 7,900 7,900 0
OJI228 =4l 7,900,000 7,900
02 At H 2= 480 480 0
OF AL S = A 40,000 129 480
04 FN2EHSZAH 3,000 3,000 0
ORN2EYEF=AHI 250,000 128 3,000
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= A
HOZE ol & Ab 2 M A
20148 = 20 A LEHS|H LV JIEISES H 2R #EXJNL ~ 5=
SN ME2S
N2 X XXISH &H2elE
SR KSR S &0{2elF (2 &HH)
2 S 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
NE2s 444 084 435,758 8,326
= 787
Al 443,297
KRR B &0t 22l 1,573 0 1,573
= 787
Al 786
NI XX S & 0122l Z| 1,573 0 1,573
= 787
Al 786
HRESAXNYHN =& 1,573 0 1,573
< 787
Al 786
101 e1214| 220 0 220
o 110
Al 110
04 JI2ZtHIZ22 NEES 220 0 220
OHNb6al EZ2SsSAIXNEEH JI2HH2 2R 2182
40,0003 x1H x5 5 220
== 110
Al 110
201 et 993 0 993
o= 497
Al 496
01 AP 2t 2| H| 993 0 993
OHMBel EZSAXNEEH dR=8 dBtx=2H|
618,980 619
= 310
Al 309
ON63l HMISAXNYSEN HRFE S S|
7,000 *10.67L x5H 374
== 187
Al 187
202 044 100 0 100
o= 50
Al 50
01 2Ll 100 0 100
OHM63l d=2SAANSEH S2=& 0]
10,000 x5 %22 100
o=t 50
Al 50
203 AR =X Y| 260 0 260
= 130
Al 130
03 AIZH =& 2= X H| 260 0 260
OHN63l d=2SAMANLEH S2F=XH|
65,000& *43] 260
o= 130
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2N MB2S
M NSNS dA22 3
X

S XY dH2el 3| (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
1] A T30
Mel2s =OAUXMHEH 22 365,412 1,370
FOXXIMEH &4 35t 283,850 A22,200
FURXAEE 29 158,115 8,795
201 £B-2%H| 31,440 3,000
01 At 22l 22,440 4,000
OFTXEEHZE Lit=2H|
500,000& 12& 6,000
OFTXEH Hates SIFEI U=
60,0003 «2CHx122 1,440
OFUNXSA SoABA S
50,0003 «25H «12& 15,000
03 A2 Z Hl 9,000 A 1,000
OFUXXHEH HSLHESI 3,000, 000& 3,000
OFUXXHE Ast & WF 3,000,000 3,000
O&¥A2d sZEME 2238 2% 3,000,000 3,000
203 R =&t 600 0
03 AIHF=X AR =AY 600 0
OAEAHFZ 600,000& 600
301 et A3z 125,075 32,475
11IIEtEA S 125,075 125,075
OFLUXXIEE XJSAX AH 24
25,0003 x348H «12& 104,400
OFUXXHEH A2l NASAX A2 4
25,0003 *3H »249L 18,675
OFUXXEE SMZE ZAL AHIE24
2,000,000& 2,000
405 TtabH S| 1,000 A 4,680
02 TN 1,000 0
OFXXHH M7 1,000, 000& 1,000
QIAYRHe =29 25,405 A30,995
201 Let24d] 24,855 1,755
01 At 22l 13,200 0
ORlgsy gexx Yty
1,100,000& 122 13,200
02 =24l 11,655 1,755
ORABHAL WO 9,900
—0&sRER2 780,000 128 9,360
—HERERS 45,0003 x12& 540
OSg&gLSI A2l
65,0003 30 +9 A 1,755
405 RHoHF S HI 550 A 32,750
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2N MB2S
M Ne2s FULNXMUEH 29

¢ FUXXME &85t CEERED)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 et EFFHSHI 550 33,300 A 32,750
QuAL2E WA(UAH) 550,000 »1CH 550
g g2sXE 93,330 93,330 0
301 et A= 93,330 93,330 0
058 -0 -tHESEHS 93,330 93,330 0
os&=¢ 200,000& *26H x143| 72,800
Os&slo &&= 20,0002 26 *23| «12& 12,480
Ota ¢ 25,0003 x161H »23| 8,050
HRet =252 2SI 7,000 7,000 0
301 LAz 7,000 7,000 0
09 SAEHIE &S 7,000 7,000 0
OMRsE =252 2SI HEL FHX =AU
7,000 «50H «23| 102 7,000
s AN 29 51,566 57,992 A6,426
A2 3 46,566 47,992 A1,426
201 Let2d] 46,166 47,992 A 1,826
01 At 22l 8,000 6,000 2,000
OMat2tel Lek=ZH| 500,000& 12& 6,000
O&F=D 2z 2,000,000 2,000
02 2324l 38,166 41,992 A 3,826
OH=ES A HXZ A 550& 1,043 m 574
O332= % HA 25,700
—dIIRa 900,000& »12& 10,800
—HEes 1,000,000& »12& 12,000
—&otxk 23 100,000 »12& 1,200
—AsXA ¥ BEEE 1,200,000 1,200
—Jiet 2223 & HMA 500,000& 500
OAl& & Hl s Xl 8,292
—RoZHl===2 181,000& 128 2,172
— gt =2 110,000 128 1,320
—JI&t AIEZHIS X 400,000 x12& 4,800
O x& =Xl 300,000& =128 3,600
405 Xt S| 400 0 400
01 AL = ZH SHI 400 0 400
O EX SHYUA(MR) 400,000& = 1CH 400
A A 5,000 10,000 A5,000
401 A& HIZ 201 Y| 5,000 10,000 A5,000
01 A& HI 5,000 10,000 A5,000
O&AMN 4732 E= At 5,000,000 5,000
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SN ME2S
M ME2s FUXNXALAEH 24
9l FOIEOAY CER-ED
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
FOIEHOI ALY 29,996 0 29,996
A2 HHIBA 5,996 0 5,996
1 AIEHIZ 2L 5,996 0 5,996
01 Al&H| 5,996 0 5,996
OS0I2 5182 S HIZ280| =4 (524004 )
4,000,000 4,000
OME8 S 334-1HAl L2 S AlEdKRTE &X
15,3502 1304 1,996
OFMAFD OB AIE =S EHI 21,000 0 21,000
401 A& HI L 204 HI 21,000 0 21,000
1 Al&H| 21,000 0 21,000
OME S 334-1HAl £ S 0DNEEUXAE &
N 19,000,000& 19,000
OMES 30558 @ 2gd 2z S 32
g9 xEg AMAAEI 2,000,000& 2,000
MEStAH HH| 3,000 0 3,000
401 Al HI L 2 0HHI 3,000 0 3,000
01 Al& H| 3,000 0 3,000
OME8Z, sllg 8 2 2= MEx&Y
3,000,000 3,000
HE2AAH (ME2s) 77,099 71,716 5,383
ol =2dH| 34,739 29,356 5,383
ol AY| 34,739 29,356 5,383
101 2124 H] 34,739 29,356 5,383
03 RIAHL*ZZXHE 34,739 29,356 5,383
OsSx=04dEH A2 34,739
—J=2a2
(1,920,370 «52 )+(1,938,810¢+7€) 23,174
— dHZ A 90,000 ~12& 1,080
— "WE S|
(1,920,370 +1,938,810& ) *50% 1,930
—JIE4 100,000 x12& 1,200
—N2aRLY
(8,930 x5 49,010 7= )»1. 50 x15Al 2+ 2,424
—pYuIRLy
(8,930 x5 +9, 010 7 ) 1. 5H x8 Al 2+ %2 2,586
ol
— X E 9,010& *8A| 2F*24L 1,730
—AMEE S 34,124,000& *18/1,000 615
Jl2dHl 42,360 42,360 0
Jl2 &4l 42,360 42,360 0
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2A: M8l2s
M HH2ALH(ME2S)
¢l =gl

SA - ZE-B(EN) - NRAY - B S il &t o il

201 L2l 16,200 16,200

01 At 22l 16,200 16,200
OR A2l 80,000 *9H 122 8,640
OJle sl 70,000 «9H «12& 7,560

202 Oddl 16,200 16,200

02 M0 16,200 16,200
O HOHI 150,000 x9H »12& 16,200

203 YR =2l 9,960 9,960

01 JI22H =4 6,600 6,600
OJ|22d L Fat| 550,000& »12& 6,600

02 AP 2= 360 360
OF ALY S = 40,0003 x99 360

04 NI ZAH 3,000 3,000
ORAN2EIRFEHI 250,000 128 3,000
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> A
A & 0l & AF 2 E A A
20143 & =04k LBHSIAHLIIEISESIH 227 HEXNFYN ~ 25 S
2AM: 0loH1sS
M NYNXSM &2 ZH
S XY dH2el 3| (&)
2 S 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
oloH1s 466,764 407,703 59,061
< 835
Al 465,929
A& XX EH & 0122l S 1,669 0 1,669
< 835
Al 834
N YIRS &2 3| 1,669 0 1,669
< 835
Al 834
HIASANSEEN =& 1,669 0 1,669
< 835
Al 834
101 @124l 220 0 220
< 110
Al 110
04 JIZHHZ2Z2XNESE S+ 220 0 220
OHM63l M= AXNLENH JIZHZZ2A 22
40,0003 1 +5.5< 220
< 110
Al 110
201 Let249] 1,089 0 1,089
< 545
Al 544
01 At 22/l 1,089 0 1,089
ON6sEl MISAXNLHAN HRFZR det=>ZH|
714, 740& 715
< 358
Al 357
OMeal d=SAMALEN I2FA S|
7,000& *10.672+5H 374
< 187
Al 187
202 04l 100 0 100
< 50
Al 50
01 = LH 4 Hi 100 0 100
OHN6zl d=sSAXNLEH dRFE 04l
10,0003 x5H »22 100
< 50
Al 50
203 B R =&l 260 0 260
< 130
Al 130
03 AIMZ=XH R =AH| 260 0 260
OHesl MISAXNLLHN HRF=AH|
65,000& *43] 260
< 130
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A 0l0H1S
M NSNS dA22 3
X

S NSRS &H22E (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
Hl A T30
Ol0H1sS F2UXNXHEH &9 384,496 329,852 54,644
FOXXAH 435 302,746 282,332 20,414
FOUNXMEH 29 152,050 133,940 18,110
201 Bt A | 36,400 30,400 6,000
01 AP 22l Yl 28,200 22,200 6,000
OFUTXME S Yo+
600,000& *12& 7,200
OFOXXIMME AAX HZ(2I1E)
1,500,000& x4 3] 6,000
OFURXAA 819 HA 2g
50,000& »25H x12& 15,000
03 &AL L ] 8,200 8,200 0
OFUXXHEH HSLHT 3,000,000& 3,000
OFUXNXHMEH AS L & 2,000,000& 2,000
OFA4E s=Hg T2 13esd 2,000,000& 2,000
OsMZZ 29 300,000& *43] 1,200
203 PR =&lY| 600 600 0
03 Al =X H R =X Y| 600 600 0
OANEANM g5 FX 600,000& 600
301 dEtEAZ 97,750 78,240 19,510
11 IIEtE &2 97,750 0 97,750
OFQUXXIHE 2ZA IHSAA AlH B A
25,0003 »280H x12& 84,000
OFQUXXHE Ald2tel A2 ALA AH 24 13,750
-5y 25,000& »2H %249 12,450
—F% 25,0003 1 =52 1,300
401 Al HI L 2 0HHI 15,000 18,500 A 3,500
01 A& HI 15,000 18,500 A 3,500
OFUXXHEH otLHIAZ & ofug stEH
dl 5,000, 000& x 14 5,000
oM =FFH| 10,000, 0002 * 14 10,000
405 XtabF S| 2,300 6,200 A 3,900
01 A&t =S F SHI 1,000 4,250 AN 3,250
OAI&R(AFR) 100, 000& *10CH 1,000
02 &S M7 bl 1,300 1,950 A 650
OFQUXXHE =A(AF) 1,300
—SA0IHE D] 10,000& *30A *33] 900
— U2 &Mt SAHwA
10,0003 x20H *23] 400
DIRAHLR2He 89 31,116 28,812 2,304

- 183 -




A 0l0H1S
3 OIS =2 AXMEH 29

¢ FUXXME &85t CEERED)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
201 et A | 28,416 28,812 396
01 AFR2t2ldl 12,000 12,000 0
OolEsy HREX Uty
1,000,000& x12& 12,000
02 =294l 16,416 16,812 N 396
O332= % HAl 11,340
—0&RHER3 900,000& x12& 10,800
—BIELRERZ 1,500 3024 x12& 540
OSESHLE 2| H2ARXE U]
76,0003 =30 =122 2,736
Osgsgeza)| |22l
65,0003 =30 =122 2,340
405 XtabF S| 2,700 0 2,700
01 AL 2B F SHI 2,700 0 2,700
OblfXele DAESII(CHA) 550,000 «2CH 1,100
OAg S XA A ATH(AN) 400,000 =2H 800
OX&QIAID| (CHA) 800, 000& 1CH 800
S, 8t 2sKE 112,580 112,580 0
301 dBEtE A= 112,580 112,580 0
055 SH -0/& - BtEEEEAZ 112,580 112,580 0
Os&sY 200,000& *31H x143] 86,800
OS&39 &MY 20,000& *31H »23| x 128 14,880
Oet& 4 25,000& 218 23| 10,900
MRt =52 US| 7,000 7,000 0
301 Bt A= 7,000 7,000 0
09 HALAHIEA S 7,000 7,000 0
OMRse 222 oE)| HWEAZAHI =4H|
7,000& x50 23| «10& 7,000
HAMESH 61,794 47,520
HAMSHZ I 44,294 40,520
201 LEt2 9| 43,894 40,520
01 AFR2t2l bl 4,800 4,800
OMatZ2] LEtx=FH| 200,000& x12& 2,400
O&d=2=J ¥ 3JI3FI| Az
40,0003 *5CH x12& 2,400
02 3524l 39,094 35,720
OHFE A HX A 550,000& 550
O=323 ¢ HA 14,784
- &3 900,000& x12& 10,800
—&olE 22 80,000& x12& 960
—NSIM ¥ 282 900,000& 900
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A 0l0H1S
3 OIS =2 AXMEH 29

Sel SEASY (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
—JIEt 3322 & HA 500,000& 500
—HENERES(EAMALTBEH)
135,300& »12kw 1,624
OA&EHl |Xdl| 9,960
—gstaAetd = 110,000& =123 1,320
— 2ol = 170,000 128 2,040
—EAN E AES SR
300,000 = 12& 3,600
—EA 8 2 HEEA 3,000, 000& =12 3,000
Oxg |AlHl 250,000& «10+12& 3,000
OO0IEX |XHI 50,0002 «1CH 122 600
O =ZHl 850,000& »12& 10,200
405 XtabE SHI 400 0 400
01 AR ESFH S 400 0 400
O EX SHYUA(AMR) 400, 000& = 1CH 400
AL 17,500 7,000 10,500
401 A& HIZ 201 I 17,500 7,000 10,500
01 A& HI 17,500 7,000 10,500
SSOIMS(EM) HHZAIE WH B A
12,000,000& 14! 12,000
OBM HAHSA SLEZA 3,500,000 » 14! 3,500
O&AN A782 E3A 2,000,000& »14! 2,000
FOIHEHOI AL 19,956 0 19,956
272 FHISA 19,956 0 19,956
401 AIEHI L 201 19,956 0 19,956
01 A& Hl 19,956 0 19,956
OO0loHE 10981 X 23 B2XE 22t AA
9,000& *1,100& 2t 9,900
OO0IHES 10981 X & A=S2H0l SESA
12,6003 5604 2 7,056
O0llHE 2L &M AD HYS RIS AMEE &
AL 3,000, 000 1Al 3,000
HE2HZHI(0I0H1S) 80,599 77,851 2,748
el 2l 29,629 26,431 3,198
ol 2| 29,629 26,431 3,198
101 @124 dl 29,629 26,431 3,198
03 RIAHAZZ2THE = 29,629 26,431 3,198
Os=gdy EA22& 29,629
—JlEs 1,717,510 128 20,611
— ZUg A 90,000 *12& 1,080
— ZE S| 1,717,510& *100% 1,718
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SAM: 0l0H1S
M HAE2H9AH(0|HIS)

col: olziE CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
N ECEY
8,020& x1 . 5Hl x15A] 2tx 128 2,166
Cmomoan
TrE\_TTO8,020-°.:J*1.5HH*8/\|2**2%'*12% 2,310
— X E 8,020 *8A| 219 1,220
—AMTHEEZ 29,105,000 =18/1,000 524
Jl=23tl 50,970 51,420 AN 450
JlE23Hl 50,970 51,420 AN 450
201 Bt A | 19,800 19,800 0
01 AP 22l Yl 19,800 19,800 0
EMES9Y 80,000& x11H x12& 10,560
(OPIE=S=2=3:] 70,0003 *x11H *x12& 9,240
202 04| 19,800 19,800 0
02 40 H| 19,800 19,800 0
O& A0 I 150,000& x11H x12& 19,800
203 YR =&H| 10,040 10,040 0
01 J|22HLR=AH| 6,600 6,600 0
OJ|Z22dgR =AY 550,000& x12& 6,600
02 HAJ A2 =T 440 440 0
OFJAINNMARFEY| 40,000& =114 440
04 ENSHLRF=XH| 3,000 3,000 0
ORANSELERFAY| 250,000& x12& 3,000
405 XtabFE SHI 1,330 1,780 N 450
01 AL 2B F SHI 1,330 1,780 N 450
OARE ZHA(UA) 250,000& = 1CH 250
OANERE 2 XH(THAN 180, 000& *6H 1,080
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N = 0l & At & M A

20149 = 20l A LB H L IIEIEE S H 2P HEXJY ~ &5
EA: 0l0H2S
N2 X XXISH &H2elE
SR KSR S &0{2elF (2 &HH)
2 S 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OlH2= 351,199 329,836 21,363
= 765
Al 350,434
NSRS &0122 E ] 1,529 0 1,529
= 765
Al 764
NI SH & 422 Z 1,529 0 1,529
= 765
Al 764
HRESAXNYHN =& 1,529 0 1,529
< 765
Al 764
101 e1214| 220 0 220
o 110
Al 110
04 JI2ZtHIZ22 NEES 220 0 220
OHNb6al EZ2SsSAIXNEEH JI2HH2 2R 2182
40,0003 x1H x5 5 220
== 110
Al 110
201 LBt | 949 0 949
o= 475
Al 474
01 AP 2t 2| H| 949 0 949
OR63 MISAXNLEN YRSEW Lps Y|
574,300 575
= 288
Al 287
OHMBE =S AXNEENH RFE S|
7,000 *10.67L x5H 374
== 187
Al 187
202 044 100 0 100
o= 50
Al 50
01 2Ll 100 0 100
OHM63l d=2SAANSEH S2=& 0]
10,000 x5 »2 100
o=t 50
Al 50
203 AR =X Y| 260 0 260
= 130
Al 130
03 AIZH =& 2= X H| 260 0 260
OHN63l d=2SAMANLEH S2F=XH|
65,000& *43] 260
o= 130
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2AM: olthes
M NYNXSM &2 ZH
Chelr XYXXISM &H42el (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
1] A T30
Oli2s =CURXIMEH 2 280,654 261,094 19,560
FOXXIMEH &4 35t 221,900 210,670 11,230
FURXAEE 29 123,190 100, 380 22,810
201 £B-2%H| 30,240 24,240 6,000
01 At 22l 22,040 16,040 6,000
OFQNIMESY Lsta Y|
420,000& x12& 5,040
OFQUXXIHE AAX &2 2,000,000 *12] 2,000
OFUNXIF A0 BELg
50,000 «25H « 12 15,000
03 &Ar2 I 8,200 8,200 0
OFQUXXEE HASLHES & Z2el 24
3,000, 000& 3,000
OFQUTXHEH At & F4H SEME B2
8 22 4,000,000 4,000
OSMZa 29 300,000 42 1,200
203 ¥ S =&l 600 600 0
03 A=A H =AY 600 600 0
OAMZAHZ=Z 600,000& 600
301 et d = 89,550 69,240 20,310
NJIEEd= 89,550 0 89,550
OFQXTXEH THASAMI AHEH
25,0003 x240H 123 72,000
OFQXXIMEH A&2el ANHASAL Al 24
25,000& x2F 2482 +25, 000 »1Z »206 17,550
405 XHoHF S HI 2,800 6,300 A 3,500
01 AL ESFH S 800 3,300 A 2,500
QAIE Y (&) 400, 000& *2H 800
02 S A7l 2,000 3,000 A 1,000
O0Eol =2 0l SAY 222 A8 &N
10,000& 1002 *23| 2,000
QIAYRXe =29 17,000 27,880 A 10,880
201 L2l 15,000 15,000 0
01 At 2t 2l 8,400 8,400 0
ORlESy e Ystagy
700,000& 128 8,400
02 2324l 6,600 6,600 0
O0ls B3 400,000& x12& 4,800
Otts RERI 150,000 =128 1,800
405 RHoHE S HI 2,000 12,880 A 10,880
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A Olohes
3 0l0i2s =2 AXMEH 292

R FOXNXAEYH 43 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 XA 2B F S| 2,000 12,880 A 10,880
ORIRA SEE SX L 2AXH(AR)
2,000,000& x14l 2,000
s B 213 78,210 78,210 0
301 et A= 78,210 78,210 0
05 S& - 0|2 -t EsEA= 78,210 78,210 0
Os&dsd 200,000 x22H x14 3| 61,600
OSHF 9 EHARG 20,000 x22H «23| x 12& 10,560
OBt& =& 25,000 x 121X x23| 6,050
MRE 252 S| 3,500 4,200 AT700
301 et A= 3,500 4,200 A 700
09 HAIAHIBEAZ 3,500 4,200 AT700
ONMRs 222 2HS)| UEL H2HAN 24H
= 7,0002 x50H 13| 10 3,500
SEAN 24 48 544 50,424 A 1,880
HAI2E HH| 48,544 47,424 1,120
201 B9 48,144 47,424 720
01 AP 22| H| 6,960 6,840 120
OMit2te| LBt=2Y| 400,000& ~12& 4,800
O&FLD| X 180,000& x12& 2,160
02 =224 H| 41,184 40,584 600
OAHAEFEES & EH XA 600,000& 14! 600
O2232=2 % HA 11,400
— &I Re=a 770,000 x12& 9,240
— &Gt E 22 100,000& x12& 1,200
—NsSXA &€ B8 600,000 = 1CH 600
—JIE 232 30,000 x12& 360
O 24| 11,280
— H AP HHEHH| 940,000 x12& 11,280
OA&ZH SAXbl 13,704
—3A Y AIAE A 22|
700,000 x12& 8,400
— 20 HHANAE 292 192,000& ~12& 2,304
—HA WS AS 2 b B2
3,000,000& x14Al 3,000
OXg Xl 3,600,000 3,600
O0lE X &Kl 50,000& 10~ 12& 600
405 XHAHFEI EHI 400 0 400
01 XAt 2 E F S| 400 0 400
Q&SI SaHELA (AF) 400,000 =1CH 400
FOIEH oA 10,210 0 10,210
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2M: 0l0H2s
H: 0l0H2s FUXNXHEH 2
SH9l: FOIE O ALY SREED
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ 2t
A2 HUHIZ2A 10,210 0 10,210
401 AlEHIZL 2 0HY| 10,210 0 10,210
01 Al&H| 10,210 0 10,210
OO0loi2s 131-18H X S 1000HA OlHE=2 Y=
gt =4 12,600 10090 & 1,260
O0llli2E etz & T 2ALE2(BEaE2eli)
55082 A= 9,000 x550A4 2+ 4,950
O0llli2s Etdz 7982 S 0|82 ALE S
2 Al 2,000,000& *2a 4,000
HE2AAH|(0|0H2S) 69,016 68,742 274
ol 2AH| 30,296 30,022 274
olea2AY| 30,296 30,022 274
101 e1214| 30,296 30,022 274
03 2INHAZ2ZXNHE = 30,296 30,022 274
OsF=04dEH HAZ2ISE 30,296
A=) 1,717,510 x12& 20,611
— dHZAH| 90,000 ~12& 1,080
— HAE S| 1,717,510 x100% 1,718
—JIExx= 60,000& 12& 720
—N2ARRLY
8,020 x1.58 x15A 2t x 12& 2,166
e ELES-
8,020 *1.5H *8A| 2t*x2 x 12& 2,310
— G x=E 8,020 *8A| 2F*x18L 1,155
—AMEE S 29,760,000 «18/1,000 536
Jl2d | 38,720 38,720 0
Jl2 &4l 38,720 38,720 0
201 et 14,400 14,400 0
01 AP 22| H| 14,400 14,400 0
OFAM&84d9Hl| 80,000& x8H 128 7,680
OJls2&dl 70,000 x8H x12& 6,720
202 04d| 14,400 14,400 0
02 NI 14,400 14,400 0
O MY 150,000 x8H ~12& 14,400
203 & R = &4 9,920 9,920 0
01 JI22HE Y FFEH| 6,600 6,600 0
OJ|&22g9gL2=8d| 550,000 x12& 6,600
02 AAAJMAAH 2 =R Y| 320 320 0
OFJINMH 2 =X 40,000& »8H 320
04 FEASHEYIFFEH| 3,000 3,000 0
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Olok2s

FM: HH2AZH(0I0H2S)
¢l =gl (chel & 9l)
- g JE]-
SN FE - EA(SA) - MRAY - BES 0l &t o ik Bl RE2

250,000& 12

3,000
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> A
A & 0l & AF 2 E A A
20148 & 204 LEHSIH L IIEISESIH 2P HIXNAN ~ 2FS
2AM: OLEHS
M NYNXSM &2 ZH
Chelr XYXXISM &H42el (&)
_ d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OLE 1S 507,240 441,757 65,483
< 781
Al 506,459
A& XX EH & 0122l S 1,561 0 1,561
< 781
Al 780
N YIRS &2 3| 1,561 0 1,561
< 781
Al 780
HIASANSEEN =& 1,561 0 1,561
< 781
Al 780
101 @124l 220 0 220
< 110
Al 110
04 JIZHHZ2Z2XNESE S+ 220 0 220
OHM63l M= AXNLENH JIZHZZ2A 22
40,0003 1 +5.5< 220
< 110
Al 110
201 Let249] 981 0 981
< 491
Al 490
01 At 22/l 981 0 981
ON6sEl MISAXNLHAN HRFZR det=>ZH|
606,440& 607
= 304
Al 303
OMeal d=SAMALEN I2FA S|
7,000& *10.672+5H 374
< 187
Al 187
202 04l 100 0 100
< 50
Al 50
01 = LH 4 Hi 100 0 100
OHN6zl d=sSAXNLEH dRFE 04l
10,0003 x5H »22 100
< 50
Al 50
203 B R =&l 260 0 260
< 130
Al 130
03 AIMZ=XH R =AH| 260 0 260
OHesl MISAXNLLHN HRF=AH|
65,000& *43] 260
< 130
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SzelZ
A 2elZ

5 - 4
B9 (3) - HIEAIY - BAS Ol At o ﬁ}lgﬁ HRE2
Al 130
dE 29 400,687 341,480 59,207
o3t 277,870 255,060 22,810
29 144,550 115,820 28,730
QB2 AH| 30,000 24,000 6,000
A2 22| Hl 21,000 15,000 6,000
OF0UXXNHEHSYE Lot4==H|
500,000& x12& 6,000
OF0XXFE 32 =Gt
50,0003 *x252H x12& 15,000
03 SHAI2 G HI 9,000 9,000 0
OFoXIXNMEH =BT 3,000,000& 3,000
OFA~E Mgz 3,000,000 *13] 3,000
OF0QIXXHEH XNOHEAX &2
3,000,000 x14! 3,000
203 & 2 = &4 600 600 0
03 AIZH =& 2 5 X H| 600 600 0
OAMBAH F=& 600,000 600
301 LBt A= 112,900 90,320 22,580
11 JIEtE2 A= 112,900 0 112,900
OFUXXHE XSALA AHE4
25,000 x293H « 12 87,900
OFQIXXIHEH AlA XS ALAE AlY 82 A
25,000 »4% x250L 25,000
Sl 1,050 900 150
=ZFEH| 1,050 900 150
HEI(CHAND 550,000 = 1CH 550
[(& ) 500,000& = 1CH 500
g2l 29 3,500 12,700 N9,200
29| 1,500 1,500 0
2l bl 1,500 1,500 0
Helg AR 22d| 500 x3,000 1,500
F S| 2,000 11,200 N 9,200
ol y| 2,000 10,000 A 8,000
(A ) 1,000,000& «23] 2,000
0 249 28,740 28,740 0
23| 28,740 28,740 0
2l gl 14,400 14,400 0
WY AREF ABBY|
1,200,000 x12& 14,400
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2N

=] =)
M OlE1S FUAXMEH 29
H°e: s 3N2g

248,350 67 )+ 1.5HH 8 Al 2+ %2
ol

. SfE|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
— EAMAEF L 3,000,000& =14 3,000
OXt& s Xl 300,000& 128 3,600
405 XHoHF S HI 400 0 400
01 XL 2 FF S| 400 0 400
OZEXE SYA(AR) 400,000 = 1CH 400
EAEZMHL 15,000 10,000 5,000
401 Al B2 28I 15,000 10,000 5,000
01 A& HI 15,000 10,000 5,000
Ozl 4 Bt WX S A 15,000, 000& * 14 15,000
FOIH O ALY 30,000 0 30,000
272 FHISA 30,000 0 30,000
401 A& BIZ 201 8] 30,000 0 30,000
01 A& HI 30,000 0 30,000
OOESLU 2 E=3A 18,000
— OfEt S 394 X1 2 3JH4 18,000,000 * 14 18,000
OOt s FEII2d s U0l =4
4,000,000 *14] 4,000
OdEUz 23 s TZAE= MA 8,000
—BHAEH 100,000 » 1501 2 1,500
- BXNEEcll 5,000,000& =14 5,000
—ANERES 2,500& 2004 500
— NEAHE 2L 100, 0002 * 1094 & 1,000
HE2HZHI(OFEIS) 104,992 100,277 4,715
el 2 58,992 54,277 4,715
ol 2| 58,992 54,277 4,715
101 124 dl 58,992 54,277 4,715
03 RIAHAZZ2E = 58,992 54,277 4,715
Os=ody HA22E 33,617
—Jlas
(1,772,840 «67 )+(1,791,290& 6" ) 21,385
— ZHZ A 90,000 »12& 1,080
— " EE I}
(1,772,840&+1,791,290& ) *50% 1,783
—AESH XY 1,840
NSshM 459,900& 4= | 1,840
- &= 80,000& »12& 960
—AZ2Z2E
(8,2703 x62 +8,350& *62 )+ 1. 501 *15A] 2+ 2,244
—52dZ2RE
(8,270 *6 2,394
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2AMH: OLEHS
XE: BHE
L= B

HES2HAH (OLEH1S)
crel: o2t oy
- _ _ RE]
SN EHD B (3H) - MEAY - BAS ol &k o8 %@ﬁ
— XY 8,350 *8A| 2Hx20L 1,336
—AMEE 2 33,022,000€ *18/1,000 595
Oz2 42 22 25,375
—J=2a2
(1,606,880 x22 )+(1,625,310& x10& ) 19,467
— dHZ A 90,000 ~12& 1,080
— "WAESIIY|
(1,606,880 +1,625,310 )*50% 1,617
- JIEx4 40,000 x12& 480
— Ao R
(7,530 2247, 6102 x 102 ) =1 .58 x10A| 2+ 1,368
— X 7,610 «8A| 2 x152 % 13| 914
—AMEE S 24,926,000 «18/1,000 449
Jl2&dl 46,000 46,000
Jl2 &4l 46,000 46,000
201 et 9| 18,000 18,000
01 AR 22l ] 18,000 18,000
OBANS8ZH]| 80,000& x10¥ x12& 9,600
(OPIE=r==2:l! 70,000& x10¥ x12& 8,400
202 o4l 18,000 18,000
02 NI 18,000 18,000
O M| 150,000& x10¥ x12& 18,000
203 &2 =&XH| 10,000 10,000
01 JI22HE Y FFAH| 6,600 6,600
OJ|&22g9gL2=8d| 550,000 x12& 6,600
02 BRI YR2FAH| 400 400
OFJINMH 2 =AY 40,000& «10H 400
04 FEASHEYIFFEH| 3,000 3,000
OB Y28 250,000 x12& 3,000
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> A
A & 0l & AF 2 E A A
20148 & 204 LEHSIH L IIEISESIH 2P HIXNAN ~ 2FS
2AM: OlE2S
M NYNXSM &2 ZH
Chelr XYXXISM &H42el (&)
_ d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OtEt2S 420,752 382,084 38,668
< 7
Al 419,975
A& XX EH & 0122l S 1,553 0 1,563
< 7
Al 776
N YIRS &2 3| 1,553 0 1,553
< 7
Al 776
HIASANSEEN =& 1,553 0 1,553
< 7
Al 776
101 @124l 220 0 220
< 110
Al 110
04 JIZHHZ2Z2XNESE S+ 220 0 220
OHM63l M= AXNLENH JIZHZZ2A 22
40,0003 1 +5.5< 220
< 110
Al 110
201 Let249] 973 0 973
< 487
Al 486
01 At 22/l 973 0 973
ON6sEl MISAXNLHAN HRFZR det=>ZH|
598,540 599
< 300
Al 299
OMeal d=SAMALEN I2FA S|
7,000& *10.672+5H 374
< 187
Al 187
202 04l 100 0 100
< 50
Al 50
01 = LH 4 Hi 100 0 100
OHN6zl d=sSAXNLEH dRFE 04l
10,0003 x5H »22 100
< 50
Al 50
203 B R =&l 260 0 260
< 130
Al 130
03 AIMZ=XH R =AH| 260 0 260
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Os=QdH FA2el& 26,553
—Jles 1,569,990% «12& 18,840
— W Z A 90,000 »12& 1,080
— ZE SO 1,569, 990& *100% 1,570
—EY 40,0002 «1H x 128 480
—N2eRRLY
7,370 1.5 »15A1 2t x 128 1,990
— Y294y
7,370 «1. 581 x8Al 2t +22 x12E 2,123
—MTHEE S 26,083,000% *18/1,000 470
JlEZ3dl 58,470 58,470 0
JlE2&l 58,470 58,470 0
201 Let24E] 23,400 23,400 0
01 At 2t 2l 23,400 23,400 0
OfM2gHI 80,000 x13H «12& 12,480
OJle sl 70,0002 x13H «12& 10,920
202 Odl 23,400 23,400 0
02 M0 23,400 23,400 0
O NN 150,000 x 13 «12& 23,400
203 YR =&t 11,670 11,670 0
01 JI122g =4 7,900 7,900 0
OJ&228 =4l 7,900,000 7,900
02 33t H 2= 520 520 0
OFJINH S =AY 40,0003 13 520
04 FN2IELSZ=TH| 3,250 3,250 0

- 175 -




2AM: OLE3S
HE: HY2ARY (0IE3S)
& 123l (chel & 9l)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
-/

250,000& »13¥

3,250

- 176 -




> A
A & 0l & AF 2 E A A
20148 & 204 LEHSIH L IIEISESIH 2P HIXNAN ~ 2FS
SN 22S
M NYNXSM &2 ZH
Chelr XYXXISM &H42el (&)
_ d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
a2=s 593,338 521,874 71,464
< 861
Al 592,477
A& XX EH & 0122l S 1,722 0 1,722
< 861
Al 861
N YIRS &2 3| 1,722 0 1,722
< 861
Al 861
HRESAXNYHN =& 1,722 0 1,722
= 861
Al 861
101 @124l 220 0 220
< 110
Al 110
04 JIZHHZ2Z2XNESE S+ 220 0 220
OHM63l M= AXNLENH JIZHZZ2A 22
40,0003 1 +5.5< 220
< 110
Al 110
201 Let249] 1,142 0 1,142
< 571
Al 571
01 At 22/l 1,142 0 1,142
ON6sEl MISAXNLHAN HRFZR det=>ZH|
767,880& 768
< 384
Al 384
OMeal d=SAMALEN I2FA S|
7,000& *10.672+5H 374
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OFUXXHEH T A 1,000,000& 1,000
RAHLEX 29 28,410 38,420 A 10,010
201 L2 Y| 26,880 27,420 N 540
01 AP 2t2l bl 12,000 12,000 0
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OFJAINNMA R =AY 40,000& x9H 360
04 ENESIHRF=AY| 3,000 3,000 0
ORN2II2F&Y| 250,000& x12& 3,000
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N = 0] &F AF S & AN A
20148 & 20 A LES|HIIEIEES N 297 #EXIN ~ 2=
2N NES
N2 X XXISH &H2elE
SR KSR S &0{2elF (2 &HH)
_ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
AEHE 541,087 443,704 97,383
= 814
Al 540,273
NSRS &0122 E ] 1,628 0 1,628
= 814
Al 814
NI SH & 422 Z 1,628 0 1,628
= 814
Al 814
HNI2ESANANYEHH =& 1,628 0 1,628
= 814
Al 814
101 Q1 24| 220 0 220
= 110
Al 110
04 JI2ZtHIZ22 NEES 220 0 220
OHNb6al EZ2SsSAIXNEEH JI2HH2 2R 2182
40,0003 x1H x5 5 220
== 110
Al 110
201 et 1,048 0 1,048
< 524
Al 524
01 AP 2t 2| H| 1,048 0 1,048
O3 MIASAINLEN LREH Yura gy
673,820 674
= 337
Al 337
ON6sl HRISANYEIN 2FT S|
7,000 *10.67L x5H 374
== 187
Al 187
202 044 100 0 100
o= 50
Al 50
01 2Ll 100 0 100
OHM63l d=2SAANSEH S2=& 0]
10,000 x5 %22 100
o=t 50
Al 50
203 R F & 260 0 260
o= 130
Al 130
03 AIZH =& 2= X H| 260 0 260
OHN63l d=2SAMANLEH S2F=XH|
65,000& *43] 260
o= 130
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2N NES
M NYNXSM &2 ZH
Chelr XYXXISM &H42el (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
1] A T30
dEs FUNXEEH 22 464,304 373,860 90,444
FOXXIMEH &4 35t 312,685 262,720 49,965
FURXAEE 29 181,725 140,800 40,925
201 £B-2%H| 32,700 25,200 7,500
01 At 22l 23,700 16,200 7,500
OFQNXME 2% e8|
600,000 12& 7,200
OFUNXSI A slolas 4o
50,0003 «25H « 128 15,000
OFUXXIHE AAX 28 1,500,000 1A 1,500
03 &Ar2 I 9,000 9,000 0
OFUXXEEH HSLHES & HAFAH
3,000, 000& 3,000
O =UNXME A 3,000,000 3,000
O szt Nz ny 2 == &=
3,000,000& 3,000
203 ¥ S =&l 600 600 0
03 A=A H =AY 600 600 0
OAH#ZEHS =AY 600,000& 600
301 et d = 147,525 111,000 36,525
NJIEEd= 147,525 0 147,525
OFQXTXEH THASAMI AHEH
25,0003 *400H 123 120,000
OFQURXIHEHAI L2l RASALR Ad 24 27,525
— &g 25,0003 *4H +250 25,000
— =2 25,0003 x1H x101 2,525
405 TtHabF S| 900 4,000 A 3,100
01 et ESFHSHI 900 4,000 A 3,100
gl HH(al ) 300, 0002 *3H 900
YR Xe 29 36,860 46,600 A9,740
201 Let24d] 25,860 24,600 1,260
01 At 2teltl 13,860 12,600 1,260
OQJAF HRFA =2l 900,000& »12& 10,800
OSSHUALTAAY S LS4H]
65,0003 «2CH =122 1,560
O=d =3t R0tss 2EA WA
3,000& 50074 1,500
02 =224l 12,000 12,000 0
O0l& . ets 2 JIERERS
1,000,000& »12& 12,000
405 RHoHF S HI 11,000 22,000 A 11,000
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2N
X ZH -
L= B

el

AHIH &

o o o

dEs FUXNINEH 29
FOTRMEH 435

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
01 AL 2B F SHI 11,000 22,000 A 11,000
OSEoASHLZII (A7) 11,000,000 *1CH 11,000
S, 8t sk 88,500 68,320 20,180
301 dEtE A= 88,500 68,320 20,180
0B ESH-0/& - BtEEEs2AZ 88,500 68,320 20,180
O8&a+Y 200,000 x25H x14 3] 70,000
Os&3 o F&H 20,000 25H »23| x 12& 12,000
Obt&E 4 25,0003 *130H *23] 6,500
MRt =52 US| 5,600 7,000 A 1,400
301 dEtE A= 5,600 7,000 A 1,400
09 HAIAHIBAZ 5,600 7,000 A 1,400
OMZRE B2 BS)| HHA FOHK A
7,000& x40 23| »10& 5,600
SN 29 126,619 111,140 15,479
HAMESFZ I 118,619 111,140 7,479
201 LEt2AY| 118,219 111,140 7,079
01 AFR2t2l bl 8,400 7,440 960
OMat&2| LBt==H| 700,000& x12& 8,400
02 352494l 109,819 103,700 6,119
OHFE HHXAYI 550& 2,943 1,619
O332=2 % HAl 79,600
— 282 2 HA 1,000,000 1,000
—MIR23 3,000,000& x12& 36,000
= 3,000,000& x12& 36,000
— ol ER23 250,000& =12& 3,000
—JEI=s323 300,000& x12& 3,600
OAI& &H| X 18,000
— &Moot 2e & =2 250,000 x12& 3,000
—ggl2tel e =2 130,000& = 12& 1,560
—&s&dJ&2 UGdsrg XS
170,000& = 12& 2,040
—&3AN 2 A2 RA 22yl
700,000& x12& 8,400
— RO FHANAE L Z2EHAIAY 292
250,000& x12& 3,000
O Xt&= Xl 300,000& x12& 3,600
OFA 218 L e HAi 3,000,000& x13] 3,000
Ogunatl & HUe )| M2 2,500,000 14! 2,500
O&&)| HIA4SSHEX &X 1,500,000& * 14 1,500
405 Xt &HE S b 400 0 400
01 JHAtY = ZF SHI 400 0 400
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2N

FM: pEs FUNXNLH 29
©9: SHA 29 )
5 - 4
- B (3H) - NRAY - BYS e 2
OZEXE SYA(AR) 400,000& = 1CH 400
FAEZ A 8,000 0 8,000
401 AIEHI L 20 8,000 0 8,000
01 A& HI 8,000 0 8,000
Ot HEES e A ES WH SAt
6,000,000 6,000
OXgt=xd U2 (HE) FZMA SAM
2,000,000& 2,000
FOEHOIAZ 25,000 0 25,000
A2 ZHISA 25,000 0 25,000
401 Al HIZ 201 I 25,000 0 25,000
01 A& HI 25,000 0 25,000
OaES 704-281K 23 S 0|EHE=Z =20
=4 10,000, 000& 10,000
Oa8s 727-181 X £ & JIZ2& 3 FHIAMY
10,000, 000& 10,000
ORE0t2 9 Xl 212 &AMz FHH| S At
5,000,000& 5,000
HY2IZH (MES) 75,155 69,844 5,311
23l 29,155 27,484 1,671
224l 29,155 27,484 1,671
101 @124l 29,155 27,484 1,671
03 RIHAZ 2N E =+ 29,155 27,484 1,671
Os=QUdH FA2el& 29,155
—Jlzs
(1,662,200& 72 )+(1,680,630& *5& ) 20,039
— ZUg A 90,000 *12& 1,080
— S Z St
(1,662,200&+1,680,630& ) *50% 1,672
—HESY 40,0003 x12& 480
L ECELE
(7,780 +72 47,8602 52 ) *1 .58 x 15 Al 2+ 2,110
- pYUIRLy
(7,780 +72 47,8602 5 ) *1 . 5UI *BAl 2F+2 2,251
ol
— QX 7,8603 «BAl 2t+16L 1,007
—MTHEE S 28,639,000% *18/1,000 516
=& Hl 46,000 42,360 3,640
JlE2&l 46,000 42,360 3,640
201 Lt 18,000 16,200 1,800
01 At 22l 18,000 16,200 1,800
OfAM2gHl 80,000& 10¥ 128 9,600
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SN NES
B NSRRI (MES)
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
(OPIE=S=2=3:] 70,0003 10" = 12& 8,400
202 04| 18,000 16,200 1,800
02 EHN Y| 18,000 16,200 1,800
O& Y0l 150,000& x10H x12& 18,000
203 ¥R =&H| 10,000 9,960 40
01 J|22HLR=AH| 6,600 6,600 0
OJ|Z22dgR =AY 550,000& x12& 6,600
02 HRJIAE R =&Y 400 360 40
OFAPM LR ETY| 40,0008 *10% 400
04 EANSHLRF=XH| 3,000 3,000 0
ORANSELERFAL| 250,000& x12& 3,000
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= A
HOZE ol & Ab 2 M A
20148 = 20 A LEHS|H LV JIEISES H 2R #EXJNL ~ 5=
SN UEHS
MM XLIXSHH AH 2B (HES)
SR KSR S &0{2elF (2 &HH)
_ (o
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
S E 528,192 456,214 71,978
= 782
Al 527,410
RYTRISH SABLIZY (HEHS) 1,563 0 1,563
= 782
Al 781
NI XX S & 0122l Z| 1,563 0 1,563
< 782
Al 781
HRESAXNYHN =& 1,563 0 1,563
= 782
Al 781
101 e1214| 220 0 220
o 110
Al 110
04 JI2ZtHIZ22 NEES 220 0 220
OHN6zl M2SAKNLEH J2HH 22X I8
el 40,0003 x1H «5 .5 220
== 110
Al 110
201 et 983 0 983
o= 492
Al 491
01 AP 2t 2| H| 983 0 983
OR6s WISAXNLEN LRSEW LosgY
608,020 609
= 305
Al 304
ON63l HMISAXNYSEN HRFE S S|
7,000 *10.67L x5H 374
== 187
Al 187
202 044 100 0 100
o= 50
Al 50
01 2Ll 100 0 100
OHM63l d=2SAANSEH S2=& 0]
10,000 x5 %22 100
o=t 50
Al 50
203 AR =X Y| 260 0 260
= 130
Al 130
03 AIZH =& 2= X H| 260 0 260
OHN63l d=2SAMANLEH S2F=XH|
65,000& *43] 260
o= 130
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TG SHZ|ZH(HEE)
XS SA=eZH

SN P SA(EN) - MBAY - BES 0] &k o4 el
Al 130
FUTNXNEEH 29 457,500 67,130
AXHAE 2435t 299,760 39,630
QX 29 171,710 60,070
201 £B-2%H| 28,500 7,500
01 At 22l 22,500 7,500
OFXXHEH Let=2Hl 500,000& =122 6,000
OFOINIXSINE ABHLY
50,000 «25H =12 15,000
O XXHEH AAKX E28 1,500,000 *12] 1,500
03 AH2 I 6,000 0
OFUXXHH HSLHESI 3,000,000 3,000
OFUXXHE Ast & WF 3,000,000& 3,000
203 ¥R =&l 600 0
03 Al =AY 2= 600 0
OANEAHF=A 600,000 600
301 et d = 140,050 50,010
NIJIEEd=s 140,050 140,050
OFURXIHE KHESALA &H24
25,0003 *400H 123 120,000
OFQXXIHEH AM&2el ANHASAX A 24 20,050
— &g 25,0003 *3H 250 18,750
- =g 25,000 «1H «522 1,300
405 RHoHE S HI 2,560 2,560
01 AL ESFH SH 2,560 2,560
OS4dotola =421 ME(tHH)
1,280,000 2CH 2,560
QEeHdel 22 23,160 A 20,440
201 L4l 23,160 1,560
01 At 2t 2l 13,560 1,560
ORFAFZARFA =ZH| 1,000, 000& =123 12,000
OsSEg&EsgL=Il X2
65,000 =20 x 122 1,560
02 232gHl 9,600 0
O0I&sRERS 800,000& »12& 9,600
s, 8E 2sX& 99,990 0
301 gt d= 99,990 0
05 S& -0 -2 99,990 0
O+ 200,000& x28H x143| 78,400
Os&3slo EA&x=& 20,0003 28 *x22|«12& 13,440
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X ZH -
L= B

el

EES
s FUXNXLE
BITtRIME o3t

02

Mo

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Obr& =& 25,000& *163H *23] 8,150
MRE =222 S| 4,900 4,900 0
301 et A= 4,900 4,900 0
09 HAIAHI BEAZ 4,900 4,900 0
OMlRe 222 )| HEA 22X =4I|
7,0009 *35% %23 x 10 4,900
SEAN 24 131,740 130, 240 1,500
HAI2HE A 131,740 130,240 1,500
201 gEt24H Y| 126,740 130,240 A 3,500
01 AP 22| d| 9,600 9,600 0
OTAF2Ee| Bt 800,000& x12& 9,600
02 Z=22%H| 117,140 120,640 A 3,500
O2222Y MA 91,500
— XS XA ¢ 1,500,000 1,500
— &I Rea 4,500,000 x12& 54,000
—MOEERE 200,000 x12& 2,400
- JEe3s323 300,000 x12& 3,600
— 24 2,500,000& x12& 30,000
OA&Z&H SA b 16,440
—HMI|otE 2 =2 250,000 x12& 3,000
—ggze e 150,000& x12& 1,800
—s2A0|2e g2 150,000& ~12& 1,800
—EHA Y AIE=E X2l
500,000 x12& 6,000
— 20l FHIAIAE EH2 320,000 x12& 3,840
OXgs Xl 350,000 x12& 4,200
OWsI |A 24| 3,500,000 3,500
oy A 1,500,000& 1,500
401 A& H L 2O bl 5,000 0 5,000
01 Al&H| 5,000 0 5,000
OSEAMN R2lHp HZLS DY
;000,000 14! 5,000
FOIHO|AIA 26,000 0 26,000
A2 BHIZA 26,000 0 26,000
401 Al HI L 2 0HHI 26,000 0 26,000
01 Al 26,000 0 26,000
OWES B 0IHER US| Z& S M2
StAABIAIS 14,000,000 * 14l 14,000
OUsE S 22U s fe MNEE &
NS 12,000,000 » 1Al 12,000
HESAAH (HE =) 69,129 65,844 3,285
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SN UEHS
B #NARY (MES)
chel: ol gyl CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
ol 2 gl 30,409 27,124 3,285
ol 2A| 30,409 27,124 3,285
101 @14 Hl 30,409 27,124 3,285
03 RIAHAZZ2 T+ 30,409 27,124 3,285
Os=QdH FA2el & 30,409
—Jl=s
(1,680,630 «8& )+(1,699,080& x4& ) 20,242
— ZHZ A 90,000& »12& 1,080
— o ® 20}y
(1,680,630&+1,699,080& ) *50% 1,690
—JIE=E 120,000 =128 1,440
LB ELEe
(7,860 »8& +7,9402 42 )1 . 5HH *15A] 2+ 2,130
~guaesy
(7,860 +82 17,9402 *4& )*1 . 5UI *8A| 2H+2 2,272
ol
— X 7,940 «BAl 2t+16L 1,017
—dHEE = 29,871,000% *18/1,000 538
JlE3l 38,720 38,720 0
Jl2&tl 38,720 38,720 0
201 L2l 14,400 14,400 0
01 At 22l 14,400 14,400 0
FAN2EH| 80,0003 «8H x12& 7,680
OJles gl 70,0003 «8H x12& 6,720
202 o4dl 14,400 14,400 0
02 M| 14,400 14,400 0
O HHI 150,000 x8H x12& 14,400
203 YR =2t 9,920 9,920 0
01 J1Z2Z YR8 6,600 6,600 0
OJI228 =4l 550,000& »12& 6,600
02 At H 2= 320 320 0
OFAJtatY =& 40,0003 x84 320
04 NI AL 3,000 3,000 0
ORN2EYR=AHI 250,000 128 3,000
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N = 0] &F AF S & AN A
20148 & 20 A LES|HIIEIEES N 297 #EXIN ~ 2=
SN 2ES
N2 X XXISH &H2elE
SR KSR S &0{2elF (2 &HH)
_ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
25 551,165 460,621 90,544
= 785
Al 550,380
NSRS &0122 E ] 1,569 0 1,569
= 785
Al 784
NI SH & 422 Z 1,569 0 1,569
= 785
Al 784
HNI2ESANANYEHH =& 1,569 0 1,569
= 785
Al 784
101 e1214| 220 0 220
o 110
Al 110
04 JI2ZtHIZ22 NEES 220 0 220
OHN6zl M2SAKNLEH J2HH 22X I8
el 40,0003 x1H «5 .5 220
== 110
Al 110
201 et 989 0 989
o= 495
Al 494
01 AP 2t 2| H| 989 0 989
O3 MIASAINLEN LREH Yura gy
614,960 615
= 308
Al 307
OHMBE =S AXNEENH RFE S|
7,000 *10.67L x5H 374
== 187
Al 187
202 044 100 0 100
o= 50
Al 50
01 2Ll 100 0 100
OHM63l d=2SAANSEH S2=& 0]
10,000 x5 %22 100
o=t 50
Al 50
203 AR =X Y| 260 0 260
= 130
Al 130
03 AIZH =& 2= X H| 260 0 260
OHN63l d=2SAMANLEH S2F=XH|
65,000& *43] 260
o= 130
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N2 X XXISH &H2elE
SR KSR S &0{2elF (2 &HH)
2 S 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
L1 A T30
2= FOUIXNEEH 249 461,930 392,940 68,990
FOIXXHE 245 303,730 272,040 31,690
FOXXAEH 2E 190,400 144,040 46,360
201 gBt24d| 31,400 23,000 8,400
01 AP 22| H| 25,800 16,800 9,000
OF0XXAEH 29 Ldbet=2H|
500,000& x12& 6,000
OFUNXISI A slolaasg
50,0003 *x252H x12& 15,000
OFQXXAEH @ADF 22l
150,000& x12& 1,800
OFOIXXHEH AAKX 22t 1,500,000& «23] 3,000
03 Al HH| 5,600 6,200 A 600
OFUXNXNEH HELET 3,000,000 3,000
OF0 XXM As & R 2,000,000 2,000
OFUXXNEEH SMIE 2AIEE
300,000 23] 600
203 R F & 600 600 0
03 AIEH =X H 2 F X Y| 600 600 0
OAEANH =& 600,000& 600
301 et A= 155,050 120,440 34,610
11 J|EtE A2 155,050 0 155,050
OFQXXAE XNSSAFA AH A
25,000 450 x 12 135,000
OFTQXXHAEH AlE2e ANRESAK AHEA 20,050
- 25,000 »3H x250 18,750
- =g 25,0003 x1&H x52! 1,300
405 XHA&HF S HI 3,350 0 3,350
1 XA 2 FF S| 3,350 0 3,350
O=Y Yold=2H(alF) 350,000 = 1CH 350
OSH00I A AE(CHAN) 2,000,000 ~1CH 2,000
ORHE00I A AE(CHAN) 1,000,000 = 1CH 1,000
DIRAAL2Ke 24 20,410 20,960 A 550
201 B9 20,160 20,160 0
01 AP 22| H| 10,200 10,200 0
ODABHALE AutaY
700,000 x12& 8,400
OSEUIALIAIAE X2 2H|
150,000 »12& 1,800
02 2224 H| 9,960 9,960 0
o0l RER=2 800,000 x12& 9,600
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A
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ES
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o
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SA - EB .S (BH) - NBEAY - BAS ﬁlf& HDS2
Obts 2ER2 30,000& x12& 360
405 XtabF SHI 250 800 A 550
01 JHML = EFSHI 250 800 A B50
OAMNE(THA) 250,000& = 1LH 250
S, 8E 2513 85,920 100,040 AN 14,120
301 dEtEAZ 85,920 100,040 A 14,120
0BCSE -0 -EHEESEMN= 85,920 100,040 AN 14,120
Os&+Y 200,000 x24H x14 3| 67,200
Os&3 o &84 20,0003 x24H *23| x12& 11,520
OBt&E =& 25,000& 144 23| 7,200
iRs B2 oS 7,000 7,000 0
301 dEtEAZ 7,000 7,000 0
09 HAIAHIBEAZ 7,000 7,000 0
ONRe=2=s2LHSD] 20 A SAH|
,000& 100 ~10& 7,000
N 2Y 128,200 120,900 7,300
HAI2E EH| 128,200 120,900 7,300
201 LBt A H| 127,800 120,900 6,900
01 At 22l ] 9,600 12,000 AN 2,400
Oa-Z2] LEt=FH| 800,000& x12& 9,600
02 332t 118,200 108,900 9,300
OAFE S X AH| 1,100,000& 14 1,100
OZ2Z22 YA 74,100
- &3 5,500,000& x12& 66,000
— MOIEERE 250,000 x12& 3,000
—NSIAH & 282 1,500,000& = 1CH 1,500
—SANERE= ¢ g2
1,200,000 1,200
—JIEt 332=2 200,000& x12& 2,400
OAZHI(H A WLt 3,600
—SAIIAR S 300,000& ~12& 3,600
OA & &Hl XYl 33,400
— AL Y AIEE X
800,000& x12& 9,600
—MojotE e =2 400,000 x12& 4,800
— H AL &322l Hl 150,000& ~12& 1,800
—&5&J X &2l 200,000& x12& 2,400
— 201AH| &2 250,000& x 12 = x12& 3,000
— ANAE Hg) S
350,000& x12& 4,200
— A QEE A 2,000,000& x13] 2,000
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SN 2ES
M 2Es FUANXNLH 29
Sel S BA 29 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
— A HEE A 2,000,000& =13l 2,000
—JIEt AIEEHl | 300,000& 128 3,600
OXg =Xl 500,000 122 6,000
405 TtabF S| 400 0 400
01 AL EFH S 400 0 400
O EX SHYA(MR) 400,000& = 1CH 400
FOIHEHOIALS 30,000 0 30,000
22 ZHISA 25,040 0 25,040
401 AIEHI L 2 0] 25,040 0 25,040
01 A& Hl 25,040 0 25,040
O2&s 104581 X 2 400014 S0 &E&3
At 12,6003 40000 2 5,040
OUE =S 319-2~30-58 Xl Ot=2td & E2537
&l 10,000,000 * 14 10,000
O&2& 99~13981 Xl Otsetz & E2=71 &
=]l 10,000,000 * 14 10,000
MEEH FH| 4,960 0 4,960
401 AIEHI L 2 CHYI 4,960 0 4,960
01 A& HI 4,960 0 4,960
253 0HEZY H=&Y 4,960,000 4,960
HYRIZH(BRES) 87,666 67,681 19,985
el 2l 31,213 28,961 2,252
ol 2| 31,213 28,961 2,252
101 @124l 31,213 28,961 2,252
03 RIAHAZZRHE > 31,213 28,961 2,252
OsFQUdH FA2el& 31,213
—Jles 1,809,720 »12& 21,717
— M Z A 90,000 »12& 1,080
— ZE S| 1,809, 720& *100% 1,810
—N2aRsY
8,430 1. 58 x15AI 2t «12& 2,277
—pYuaRLy
8,4303 1. 58 *BAl 2t 22 x12F 2,428
— XY 8,430& *8BAl 2+*x20 1,349
—MTHEEZE 30,661,000& =18/1,000 552
JlE &3l 56,453 38,720 17,733
JlE&l 56,453 38,720 17,733
201 £B-2dH| 14,453 14,400 53
01 At 22l 14,453 14,400 53
OFM2gHI 80,000 «8H 122 7,680
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M 23S
B BH2ARY(RES)
& 123l (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OJ122 &l 70,0003 «8H x12& 6,720
grerel 2%t 3,500& =154 53
202 O4dl 14,400 14,400
02 M0 14,400 14,400
O HOHI 150,000 x8H «12& 14,400
203 YR =2l 9,920 9,920
01 JI122H =AY 6,600 6,600
OJI228 g2 =4l 550,000& 12& 6,600
02 A& H 2= 320 320
OF AL S =AY 40,0003 x84 320
04 FN2EHSZAH 3,000 3,000
ORN2EYE=4HI 250,000 128 3,000
405 XHobF S HI 17,680 0
01 HatH ESFH S 17,680 0
OZSIH(HA) 17,200,000& = 1CH 17,200
oolgre MIUIFE (A R3, HH5)
60,000& *8H 480

- 210 -




